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1. Consider the following statements:
1. The effect of the rotation of the earth

tends to deflect the direction of the
winds.

2. It is also known as Ferrel’s law deflection.

3. Coriolis force is absent along the poles
and increases progressively toward the
equator.

Which of the following statement(s) is/
are correct?

(a) 1 and 3 (b) 1 and 2

(c) 2 and 3 (d) 1, 2 and 3

2. Consider the following statements
regarding oceans and find out the correct
information’s:
1. Water density increases with depth but

not at a constant rate.

2. Thermo cline is the region in the ocean
in which the temperature increases but
density decreases rapidly with increasing
depth.

3. Pressure in the ocean increases nearly
linearly with depth. Different marine
organisms are adapted to life at a
particular depth range.

4. Changes in the buoyancy equilibrium of
lithospheric plates will cause a relative
rise or fall in sea level along the coast
associated with the plate.

Choose the correct answer—

(a) Only 1, 2 and 3 (b) Only 1, 3 and 4

(c) Only 1 and 3 (d) All of the above

3.  Consider the following statements:
1. Anti-cyclones have high pressure in the

centre and its isobars far apart.

2. Winds blow outward and are subject to
deflection, but they blow clockwise in
the northern hemisphere and anti-
clockwise in the southern hemisphere.

Which of the statement(s) is/are correct?

(a) Only 1 (b) Only 2

(c) Both 1 and 2 (d) None

4. Consider the following statements about

jet Stream circulations choose the correct

ones:
1. Jet stream is a current of fast moving

air found in the upper levels of the
atmosphere somewhere between 10-15
km above the earth’s surface.

2. The position of jet stream denotes the
location of the strongest surface
temperature contrast.

3. Winds of jet stream are stronger in
summer than winter.

4. Jet streams generally blow from west to
east.

Choose the correct answer—

(a) Only 1, 2 and 3 (b) Only 1 and 2

(c) Only 1, 2 and 4 (d) All of the above

5. Consider the following statements:
1. Indian peninsula is formed by very

ancient rocks of gneisses and granites.

2. Aravali range/hills are relicts and residual
mountains.

Which of the statement(s) is/are true?

(a) Only 1 (b) Only 2

(c) Both 1 and 2 (d) None

6. Consider the following statements:
1. Himalayas are young, weak and flexible

in their geological structure unlike the
rigid and stable peninsular block.

2. Various landforms like gorges, V-shaped
valleys, rapids, waterfalls etc. are
indicative of its young stage.

Which of the above statement(s) is/are
correct?

(a) Only 1 (b) Only 2

(c) Both 1 and 2 (d) None
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1- fuEu dFkuksa ij fopkj djsa%

1- i`Foh ds ?kw.kZu dk ÁHkko ok;q dh fn'kk dks ifjofrZr

dj nsrk gSA

2- bls Qsjy ds fo{ksiu fu;e ds :i esa Hkh tkuk tkrk

gSA

3- dksfjvksfyl cy Ëkqzoksa ij vuqifLFkr gksrk gS vkSj

HkweË; js[kk dh vksj mŸkjksŸkj c<+rk tkrk gSA

fuEu esa ls dkSu&lk@ls dFku lgh gS@gSa\

(a) 1 vkSj 3

(b) 1 vkSj 2

(c) 2 vkSj 3

(d) 1] 2 vkSj 3

2- egklkxjksa ds lacaËk esa fuEu dFkuksa ij fopkj djsa vkSj

lgh lwpuk dh igpku djsa%

1- ty ?kuRo xgjkbZ ds lkFk c<+rk gS] fdarq fu;r nj ij

ughaA

2- FkeksZDykbu egklkxj esa ,d ,slk {ks= gS tgka xgjkbZ

?kVus ds lkFk&lkFk rkieku c<+rk gS fdarq ?kuRo rsth

ls ?kVrk gSA

3- egklkxj esa ncko xgjkbZ ds lkFk jSf[kd :i ls

c<+rk gSA fofHkUu leqnzh tho ,d [kkl xgjkbZ ij

vius thou dk vuqdwyu djrk gSA

4- LFkyeaMyh; IysV ds mRIykod lkE; esa ifjorZu

ml IysV ls lacafËkr lkxjrV ij lkxj ry ds mRFkku

;k iru dk dkj.k curk gSA

lgh mŸkj pqusaµ

(a) dsoy 1] 2 vkSj 3

(b) dsoy 1] 3 vkSj 4

(c) dsoy 1 vkSj 3

(d) mijksDr lHkh

3- fuEu dFkuksa ij fopkj djsa%

1- Áfrpÿokr ds dsaÊ esa mPp ok;qnkc gksrk gS vkSj

blds lenkc js[kk nwj&nwj gksrs gSaA

2- iou dqN fopyu ds lkFk ckgj dh vksj cgrh gS]

ysfdu os mŸkjh xksykºZ esa ?kM+h dh fn'kk esa rFkk

nf{k.kh xksykºZ esa ?kM+h dh foijhr fn'kk esa cgrh gSaA

mi;qZDr esa ls dkSu&lk@ls dFku lgh gS@gSa\

(a) dsoy 1 (b) dsoy 2

(c) 1 vkSj 2 nksuksa (d) buesa ls dksbZ ugha

4- tsV Áokg ls lacafËkr fuEu dFkuksa ij fopkj djsa vkSj
lgh fodYi dk p;u djsa%
1- tsV  Áokg rst xfr dh iou Ëkkjk gS] tks ok;qeaMy ds

≈ijh lrg esa 10 ls 15 fdeh ds chp ik;h tkrh gSA

2- tsV Áokg dh vofLFkfr Ëkjkryh; rkieku esa vfr

oS"kE; dks n'kkZrh gSA

3- tsV Áokg dh ok;q BaM dh vis{kk xehZ esa vfËkd

'kfDr'kkyh gksrh gSA

4- tsV  Áokg lkekU;r% if'pe ls iwoZ dh vksj cgrh gSA

lgh mŸkj pqusaµ
(a) dsoy 1] 2  vkSj 3

(b) dsoy 1 vkSj 2

(c) dsoy 1] 2 vkSj 4

(d) mijksDr lHkh

5- fuEu dFkuksa ij fopkj djsa%
1- Hkkjrh; izk;}hi xzsukbZV vkSj ukbZl tSls izkphu pÍkuksa

ls fufeZr gSA

2- vjkoyh igkfM+;ka izkphu vo'ks"k vkSj vof'k"V igkM+

gSaA

mi;qZDr esa ls dkSu&lk@ls dFku lgh gS@gSa\
(a) dsoy 1

(b) dsoy 2

(c) nksuksa 1 vkSj 2

(d) buesa ls dksbZ ugha

6- fuEu dFkuksa ij fopkj djsa%

1- fgeky; viuh HkwoSKkfud lajpuk esa dBksj vkSj fLFkj

Ák;}hih; CykWd ds rqyuk esa uoksfnr] detksj vkSj

yphyk gSA

2- fofHkUu Hkw&vkd`fr;k° tSls xkWtZ (dUnjk)] V&vkdkj

dh ?kkVh] f{kfÁdk] tyÁikr vkfn blds uoksfnr

voLFkk dk lwpd gSaA

mi;qZDr esa ls dkSu&lk@ls dFku lgh gS@gSa\

(a) dsoy 1

(b) dsoy 2

(c) nksuksa 1 vkSj 2

(d) buesa ls dksbZ ugha
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7. Consider the following statements:
1. ZojiLa pass in Pirpanjal range connects

Jammu to Srinagar.

2. Banihal pass connects Srinagar to Drass
and Kargil.

Which of the above statement(s) is/are
correct?

(a) Only 1 (b) Only 2

(c) Both 1 and 2 (d) None

8. Arrange the following mountain ranges
from North to South:
1. Shivalik range

2. Trans Himalayan range

3. Himachal/middle Himalayas

4. Great Himalayan range

Choose the correct answer—

(a) 2, 4, 3 and 1 (b) 4, 3, 2 and 1

(c) 4, 2, 3 and 1 (d) 2, 4, 1 and 3

9. Consider the following statements:
1. In the great Himalayan range, the valleys

are mostly inhabited by the Bhotias who
migrate to ‘Bugyals’ during summer
months and return during winter months.

2. The Darjeeling and Sikkim Himalayas is
known for duar formation which have
been used for the development of tea
gardens.

Which of the above statement(s) is/are
correct?

(a) Only 1 (b) Only 2

(c) Both 1 and 2 (d) None

10. Consider the following statements:
1. Because of the deposits of heavy

materials of rocks and boulders in Bhabar
region, streams and river at time
disappears in this zone.

2. Mizoram, also known as ‘Molassis basin’
is made up of soft unconsolidated
deposits.

Which of the above statement(s) is/are
correct?

(a) Only 1 (b) Only 2

(c) Both 1 and 2 (d) None

11. Which of the following physiological
feature is not found in peninsular
plateau?
1. Tors

2. Block mountain

3. Rift valleys

4. Spurs

5. Bare rocky structures

6. Hummocky hills

7. Quartzite dykes

8. Black soil

Select the correct combinations—

(a) None of these

(b) 1, 3, 5, 6 and 7

(c) 1, 5, 6 and 7

(d) All of the above

12. Regarding Plate Tectonics Theory, which
of the following statements are true?
1. Earth looked very different 200 million

years ago from its present appearance.
Continents sit on blocks of the
lithosphere that are in horizontal motion
with respect to each other.

2. The recent arrangement of continents
are most stable and shows no sign of
further change

3. The convective currents flow on the
plastic aesthenosphere provide horizontal
force on the plates of the lithosphere to
drift apart of collide in.

4. All the mountains on the earth are now
explained by plate tectonics theory.

Choose the correct answer—

(a) Only 1 and 3 (b) Only 1, 3 and 4

(c) Only 1, 2 and 3 (d) All of the above
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7- fuEu dFkuksa ij fopkj djsa%
1- ihjiatky jsat esa tksthyk njkZ tEew dks Jhuxj ls

tksM+rk gSA
2- cfugky njkZ Jhuxj ls Êkl vkSj dkjfxy dks tksM+rk

gSA
mi;qZDr esa ls dkSu&lk@ls dFku lgh gS@gSa\
(a) dsoy 1
(b) dsoy 2
(c) nksuksa 1 vkSj 2
(d) buesa ls dksbZ ugha

8- mŸkj ls nf{k.k dh vksj fuEufyf[kr ioZr ‹kà[kykvksa dks
O;ofLFkr dhft,%
1- f'kokfyd ioZr ‹kà[kyk
2- V™kal fgeky; ioZr ‹kà[kyk
3- fgekapy@eË; fgeky; ‹kà[kyk
4- o`gr@egku fgeky; ‹kà[kyk
lgh mŸkj pqusaµ
(a) 2] 4] 3 vkSj 1
(b) 4] 3] 2 vkSj 1
(c) 4] 2] 3 vkSj 1
(d) 2] 4] 1 vkSj 3

9- fuEu dFkuksa ij fopkj djsa%
1- o`gn fgeky; ‹kà[kyk esa ?kkfV;k° vfËkdrj HkksfV;k

}kjk clh gqbZ gSa] tks xzh"e Ωrq ds nkSjku cqX;ky esa
foLFkkfir gks tkrh gSa rFkk 'khr Ωrq esa okil ykSVrh
gSaA

2- nkftZfyax vkSj flfDde fgeky; ‹kà[kyk nqvkj ds
fuekZ.k ds fy, tkuh tkrh gS tks pk; ckxkuksa ds
fodkl ds fy, mi;qDr gksrh gSA

fuEu esa ls dkSu&lk@ls dFku lgh gS@gSa\
(a) dsoy 1
(b) dsoy 2
(c) nksuksa 1 vkSj 2
(d) buesa ls dksbZ ugha

10- fuEu dFkuksa ij fopkj djsa%
1- Hkkcj {ks= esa pÍkuksa vkSj cksYMj tSlh Hkkjh lkexzh ds

teko ds dkj.k dbZ ckj bl {ks= esa tyËkkjk vkSj unh
fcYdqy yqIr gks tkrh gSA

2- fetksje tks fd ^eksykfll csflu* ds uke ls Hkh
tkuk tkrk gS] dksey vlaihfMr teko ls curk gSA

mi;qZDr esa ls dkSu&lk@ls dFku lgh gS@gSa\

(a) dsoy 1

(b) dsoy 2

(c) nksuksa 1 vkSj 2

(d) buesa ls dksbZ ugha

11- Ák;}hih; iBkj esa fuEu esa ls dkSu&lk cukoVh xq.k ugha
ik;k tkrk gS\

1- Vksj

2- CykWd ioZr

3- Hkza'k ?kkVh

4- ioZr LdaËk

5- fujko`r pÍkuh lajpuk

6- igkM+h Vhyk

7- DokVZtkbV vkM+

8- dkyh feÍh

lgh ;qXe pqusaµ
(a) buesa ls dksbZ ugha

(b) 1] 3] 5] 6 vkSj 7

(c) 1] 5] 6 vkSj 7

(d) mi;qZDr lHkh

12- IysV VsDVksfud flºkar ds fo"k; esa fuEu dFkuksa esa ls
dkSu&lk lR; gS\
1- i`Foh 200 fefy;u igys vius orZeku Lo:i ls

cgqr fHkUu fn[krk FkkA egk}hi tks fyFkksLQs;j dk

cuk Fkk] LFkyeaMy ij ,d nwljs ds {kSfrt :i ls

xfreku FksA

2- egk}hiksa dh orZeku O;oLFkk LFkSfrd dgykrh gS vkSj

Hkkoh ifjorZu dk dksbZ fp  ugha n'kkZrhA

3- IykfLVd voLFkk dh ,LFksuksLQs;j ij laoguh; Ëkkjkvksa

dk Áokg LFkyeaMy ds IysVksa ij {kSfrt cy yxkrh

gS] ftlls os ljdrh gqbZ xfr'khy gksrh gSaA

4- i`Foh ds lHkh ioZr dh O;k[;k vc IysV VsDVksfud

flºkar ls gks tkrh gSA

lgh mŸkj pqusaµ
(a) dsoy 1 vkSj 3

(b) dsoy 1] 3 vkSj 4

(c) dsoy 1] 2 vkSj 3

(d) mijksDr lHkh
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13. Consider the following statements:
1. Meghalya plateau is sub-divided into

Garo hills, Khasi hills and Jaintia hills.
2. Meghalya plateau is rich in mineral

resources like coal, iron ore, sillimanite,
limestone and uranium.

Which of the above statement(s) is/are
correct?

(a) Only 1 (b) Only 2

(c) Both 1 and 2 (d)  None

14. Consider the following statements:
1. Western coastal plains are submerged

coastal plains.
2. Andman and Nicobar group of island are

separated by 110 channel.

Which of the above statement(s) is/are
incorrect?

(a) Only 1 (b) Only 2

(c) Both 1 and 2 (d) None

15. Consider the following statements:
1.  Amini Island in the North and Cannanore

island in the South of Lakshadweep are
divided by 100 channel.

2. Andaman and Nicobar islands receive
convectional rainfall and have an
equatorial type of vegetation.

Which of the following statement(s) is/
are correct?

(a)  Only 1 (b) Only 2

(c) Both 1 and 2 (d)  None

16. Consider the following statements:
1. The drainage pattern resembling the

branches of a tree is known as trellis.
2. When the primary tributaries of rivers

flow parallel to each other and secondary
tributaries join them at right angles, the
pattern is known as ‘Dendritic’.

Which of the following is correct?

(a) Only 1 (b) Only 2

(c) Both 1 and 2 (d) None

17. Consider the following statements:
1. The boundary line separating one

drainage basin from the other is known
as basin.

2. What happens in one part of the basin
directly affects the other parts and the
unit as a whole.

Which of the above statement(s) is/are
correct?

(a) Only 1 (b) Only 2

(c) Both 1 and 2 (d)  None

18. Choose the correct options:
1. Oceanic crusts are younger than

continental crust but denser than it.

2. The lithosphere is made up of the crust
and the upper part of the mantle.

3. Iceland has a divergent plate boundary
running through its middle.

4. Oceanic trenches are found on the
subduction zone under sea.

Code:

(a) Only 1, 2 and 3 (b) Only 2 and 3

(c) Only 1 and 4 (d) All of the above

19. Minerals and ores are important factors
in the economic development of a
country. Consider the following facts and
choose the collection of correct
statements?
1. Abundant metals having concentration

more than 0.1% in the earth’s crust
otherwise called scarce metal.

2. Metals and minerals are evenly distributed
throughout the earth.

3. More than 90% of chromites in India
are found in Odisa.

4. Landsat is a satellite deployed to help
in exploration of mineral and metals.

Choose the correct answer—

(a) Only 2 and 3 (b) Only 1, 2 and 3

(c) Only 1, 3 and 4 (d) All of the above
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13- fuEu dFkuksa ij fopkj djsa%
1- es?kky; iBkj xkjks] [kklh vkSj tS;fUr;k igkM+ksa esa

mifoHkkftr gSaA
2- es?kky; iBkj [kfut lalkËkuksa tSls dks;yk] ykSg

v;Ld] flfyesukbZV] pwuk iRFkj vkSj ;wjsfu;e ls

le`º gSA

fuEu esa ls dkSu&lk@ls dFku lgh gS@gSa\
(a) dsoy 1

(b) dsoy 2

(c) nksuksa 1 vkSj 2

(d) buesa ls dksbZ ugha

14- fuEu dFkuksa ij fopkj djsa%
1- if'peh rVh; eSnku tyeXu rVh; eSnku gSaA

2- vaMeku vkSj fudksckj }hi lewg 110 pSuy ls vyx

gSaA
mi;qZDr esa ls dkSu&lk@ls dFku lgh ugha gS@gSa\
(a) dsoy 1 (b) dsoy 2
(c) nksuksa 1 vkSj 2 (d) buesa ls dksbZ ugha

15- fuEu dFkuksa ij fopkj djsa%
1- y{;}hi ds mŸkj esa vfeuh }hi vkSj nf{k.k esa dUukuksj

}hi 100 pSuy }kjk foHkkftr gSaA

2- vaMeku vkSj fudksckj }hi lewg laoguh; o"kkZ vkSj

m".kdfVcaËkh; ouLifr ÁkIr djrs gSaA

mi;qZDr esa ls dkSu&lk@ls dFku lgh gS@gSa\
(a) dsoy 1 (b) dsoy 2

(c) nksuksa 1 vkSj 2 (d) buesa ls dksbZ ugha

16- fuEu dFkuksa ij fopkj djsa%
1- viokg Áfr:i tc isM+ksa@ò{kksa dh 'kk[kkvksa dks la:fir

djrh gSa mls tkyhuqek izfr:i ds :i esa tkuk tkrk
gSA

2- tc fdlh unh dh ÁkFkfed lgk;d ufn;k° ,d
nwljs ds lekUrj cgrh gSa vkSj ml unh dh f}rh;d
lgk;d ufn;k° muls ledks.k ij feyrh gSa rc ;g
Áfr:i iknikdkj ds :i esa tkuh tkrh gSA

mi;qZDr esa ls dkSu&lk@ls dFku lgh gS@gSa\
(a) dsoy 1
(b) dsoy 2
(c) nksuksa 1 vkSj 2
(d) buesa ls dksbZ ugha

17- fuEu dFkuksa ij fopkj djsa%
1- ,d unh Êks.kh dks nwljs unh Êks.kh ls vyx djus

okyh lhek js[kk Êks.kh dgykrh gSA

2- Êks.kh ds ,d fgLls esa vxj dksbZ dk;Zokgh gksrh gS rks

og nwljs fgLls dks izR;{kr% izHkkfor djrh gSA

mi;qZDr esa ls dkSu&lk@ls dFku lgh gS@gSa\
(a) dsoy 1

(b) dsoy 2

(c) nksuksa 1 vkSj 2

(d) buesa ls dksbZ ugha

18- fuEu dFkuksa ij fopkj dhft,%
1- egklkxjh; iVy egk}hih; iVy dh vis{kk uohu gS]

ysfdu T;knk ?kuRo dk gSA

2- LFkyeaMy (fyFkksLQs;j) Hkw&iiZVh vkSj esaVy ds

≈ijh Hkkx ls feydj cuk gSA

3- vkblySaM ds ikl ,d vfHklkjh IysV lhek gS] tks

blds eË; ls gksdj xqtjrh gSA

4- egklkxjh; [kkb;ka lkxjh; {ks= esa IysVh; {ksi.k

(Subduction) ds {ks= esa ik;h tkrh gSaA

dwV%
(a) dsoy 1] 2 vkSj 3

(b) dsoy 2 vkSj 3

(c) dsoy 1 vkSj 4

(d) mijksDr lHkh

19- [kfut vkSj v;Ld fdlh ns'k ds vkfFkZd fodkl ds
egRoiw.kZ ?kVd gSaA fuEu rF;ksa ij fopkj dhft, vkSj
lgh fodYi dk p;u djsa%
1- Hkw&iiZVh esa 0-1 izfr'kr ls T;knk ladsaÊ.k okys Ëkkrq

Ápqj Ëkkrq dgykrs gSa vU;Fkk ;s nqyZHkËkkrq dgs tkrs gSaA

2- Ëkkrq vkSj [kfut leku :i ls i`Foh ij forfjr gSaA

3- 90 izfr'kr ls vfËkd ÿksekbV Hkkjr ds vksfMlk esa

ik;k tkrk gSA

4- ySaMlSV ,d mixzg gS tks Ëkkrq vkSj [kfut ds vUos"k.k

ds fy, rSukr fd;k x;k gSA

lgh mŸkj pqusaµ
(a) dsoy 2 vkSj 3

(b) dsoy 1] 2 vkSj 3

(c) dsoy 1] 3 vkSj 4

(d) mijksDr lHkh



8

20. Which of the following factors are

responsible for determination the climate

of India?

1. Himalayan mountain

2. Distribution of land and water

3. Distance of from sea

4. Distribution of air pressure and winds
on the surface of the earth

5. Upper air circulation

6. Inflow of Western cyclones

Which of the following statement(s) is/

are correct?

(a) Only 1, 2, 3, 4 and 5

(b) Only 1, 4, 5 and 6

(c) 1, 3, 4, 5 and 6

(d) All of the above

21. Consider the following statements:

1. President

2. Vice-President

3. All the members of Rajya Sabha

Who among the above are elected in

accordance with the system of

proportional representation by means of

the single transferable vote and the

voting is by secret ballot?

(a) Only 1 and 2 (b) Only 1 and 3

(c) Only 2 and 3 (d) All of the above

22. Consider the following:
1. Elected members of the Lok Sabha

2. Nominated members of the Lok Sabha

3. Elected members of the Rajya Sabha

4. Nominated members of the Rajya Sabha

Who among the above complete the
electoral college of the Vice-President?

(a) Only 1 and 2 (b) Only 1, 3 and 4

(c) Only 2, 3 and 4 (d) All of the above

23. Consider the following qualifications with

respect to the Finance Commission:
1. A judge of the High Court or one qualified

to be appointed as one.

2. A person who has specialised knowledge
of finance and accounts of the
government.

3. A person who has wide experience in
financial matters and in administration.

4. A person who has special knowledge of
economics.

Who among the above can appointed as

the members of the Finance Commission?

(a) Only 1 and 2

(b) Only 1, 3 and 4

(c) Only 2, 3 and 4

(d) All of the above

24. Consider the following parts of the

Constitution of India:
1. Fundamental Rights

2. Fundamental Duties

3. Directive principles of State Policy

Which among the above parts of the
Constitution were amended to pave the
way for Rights of Children to Free and
Compulsory Education Act, 2009?

(a) Only 1 and 2 (b) Only 1  and 3

(c) Only  2 and 3 (d) All of the above

25. Consider the following statements:
1. The oath of the Judges of High Court is

administered by the Governor of the
State.

2. The oath of the Judges of Supreme Court
is administered by the President of India

Which of the above statement(s) is/are
correct?

(a) Only 1 (b) Only 2

(c) Both 1 and 2 (d) None of the above
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20- Hkkjr dh tyok;q ds fuËkkZj.k esa fuEu esa ls dkSu ls

dkjd ftEesnkj gSa\

1- fgeky; ioZr

2- Hkwfe vkSj ty dk forj.k

3- leqÊ ls nwjh

4- i`Foh ds Ëkjkry ij ok;qnkc vkSj iouksa dk forj.k

5- ≈ijh gok dk ifjlapj.k

6- if'peh pÿokr dk varokZg

fuEu esa ls dkSu&lk@ls dFku lgh gS@gSa\

(a) dsoy 1] 2] 3] 4 vkSj 5

(b) dsoy 1] 4] 5 vkSj 6

(c) 1] 3] 4] 5 vkSj 6

(d) mi;qZDr lHkh

21- fuEu dFkuksa ij fopkj djsa%

1- jk"V™ifr

2- mijk"V™ifr

3- jkT;lHkk ds lHkh lnL;

mi;qZDr esa ls dkSu vkuqikfrd ÁfrfufËkRo Á.kkyh ds

fu;ekuqlkj ,dy laÿe.kh; er ds ekË;e ls xqIr er

}kjk fd;s x, ernku ls pquk tkrk gS\

(a) dsoy 1 vkSj 2

(b) dsoy 1 vkSj 3

(c) dsoy 2 vkSj 3

(d) mi;qZDr lHkh

22- fuEu dFkuksa ij fopkj djsa%

1- yksdlHkk ds fuokZfpr lnL;

2- yksdlHkk ds euksuhr lnL;

3- jkT;lHkk ds fuokZfpr lnL;

4- jkT;lHkk ds euksuhr lnL;

mi;qZDr esa ls dkSu mijk"V™ifr ds fuokZpu dh Áfÿ;k

dks iwjk djrk gS\

(a) dsoy 1 vkSj 2

(b) dsoy 1] 3 vkSj 4

(c) dsoy 2] 3 vkSj 4

(d) mi;qZDr lHkh

23- foŸk vk;ksx ds lanHkZ esa fuEu ;ksX;rkvksa ij fopkj djsa%

1- mPp U;k;ky; dk U;k;kËkh'k ;k dksbZ lerqY;

;ksX;rkËkkjhA

2- ,d O;fDr ftls foŸk vkSj ljdkj ds [kkrksa dk fo'ks"k

Kku gksA

3- ,d O;fDr ftls foŸkh; ekeyksa vkSj Á'kklu dk o`gn~

vuqHko gksA

4- ,d O;fDr ftls vFkZ'kkL= dk fo'ks"k Kku gksA

mi;qZDr esa ls dkSu foŸk vk;ksx ds lnL; ds :i esa fu;qDr

gks ldrk gS\

(a) dsoy 1 vkSj 2

(b) dsoy 1] 3 vkSj 4

(c) dsoy 2] 3 vkSj 4

(d) mi;qZDr lHkh

24- Hkkjr ds lafoËkku ds fuEu Hkkxksa ij fopkj djsa%

1- ekSfyd vfËkdkj

2- ekSfyd dŸkZO;

3- jkT; ds uhfr funs'kd rŸo

mi;qZDr esa ls lafoËkku dk dkSu&lk Hkkx fu%'kqYd vkSj

vfuok;Z cky f'k{kk dk vfËkdkj vfËkfu;e] 2009

dk ekxZ Á'kLr djrk gS\

(a) dsoy 1 vkSj 2

(b) dsoy 1 vkSj 3

(c) dsoy 2 vkSj 3

(d) mi;qZDr lHkh

25- fuEu dFkuksa ij fopkj djsa%

1- mPp U;k;ky; ds U;k;kËkh'kksa dh 'kiFk jkT; ds

jkT;iky }kjk fnyokbZ tkrh gSA

2- mPpre U;k;ky; ds U;k;kËkh'kksa dh 'kiFk Hkkjr ds

jk"V™ifr }kjk fnyokbZ tkrh gSA

mi;qZDr esa ls dkSu&lk@ls dFku lgh gS@gSa\

(a) dsoy 1

(b) dsoy 2

(c) nksuksa 1 vkSj 2

(d) buesa ls dksbZ ugha
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26. Consider the following functionaries:
1. Deputy Speaker of the Lok Sabha

2. Deputy Chairman of the Rajya Sabha

3. Speaker of the State Legislative Assembly

4. Chairman of the State Legislative Council

Who among the above has the Casting
Vote power?

(a) Only 1 and 2 (b) Only 1, 3 and 4

(c) Only  3 and 4 (d) All of the above

27. Consider the following objectives:
1. To prescribe the guidelines for

preparation of the National Plan.

2. To consider the National Plan as prepared
by the Planning Commission.

3. To make assessment of the resources that
are required for implementing the Plan and
to suggest measures for augmenting them.

4. To consider important questions of social
and economic policy affecting the
national development.

Which of the above are the objectives of

the National Development Council?

(a) Only 1 and 2 (b) Only 1, 3 and 4

(c) Only  3 and 4 (d) All of the above

28. Which among the following legal rights
are guaranteed to the children in India?
1. The Right to Education

2. The Right to Information

3. The Right to Nutrition

Choose the correct option:

(a) Only 1 and 2 (b) Only 2  and 3

(c) Only  1 and 3 (d) All of the above

29. Consider the following statements with

respect to the Finance Commission:
1. Article 280 the Constitution of India

provides for a Finance Commission.

2. Finance Commission is a Quasi-Judicial
Body.

3. It is a constituted by the President of
India every fifth year.

Which of the above statement(s) is/are
correct?

(a) Only 1 and 2 (b) Only 2  and 3

(c) Only 1 and 3 (d) All of the above

30. Consider the following:
1. Fundamental Rights

2. Fundamental Duties

3. Directive Principles of State Policy

Which among the above parts of the
Constitution enshrine distinct provisions for
the education of children from 0 to 6 years?

(a) Only 1 and 2 (b) Only  3

(c) Only  2 and 3 (d) All of the above

31. Consider the following statements:
1. The Constitutional cases or references can

be made by the President to Supreme
Court under the Art. 143.

2. These cases are decided by a Bench
consisting of at least five judges.

Which of the above statement(s) is/are
correct?

(a) Only 1 (b) Only 2

(c) Both 1 and 2 (d) None of the above

32. Consider the following statements:
1. National Integration Council (NIC) was

constituted in 1961 for the first time

2. Prime Minister is the Chairman of the
National Integration Council (NIC)

3. In 2005, the United Progressive Alliance
(UPA) Government reconstituted the
National Integration Council after a gap
of 12 years having held its meeting in 1992

Which of the above statements is/are
correct?

(a) Only 1 and 2 (b) Only 1 and 3

(c) Only  2 and 3 (d) All of the above
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26- fuEufyf[kr inkfËkdkfj;ksa ij fopkj djsa%
1- yksdlHkk dk mikË;{k
2- jkT;lHkk dk mikË;{k
3- jkT; foËkkulHkk dk vË;{k
4- jkT; foËkkulHkk ifj"kn~ vË;{k
mi;qZDr esa ls fdlesa fu.kkZ;d er dh 'kfDr gS\
(a) dsoy 1 vkSj 2
(b) dsoy 1] 3 vkSj 4
(c) dsoy 3 vkSj 4
(d) mi;qZDr lHkh

27- fuEufyf[kr mÌs';ksa ij fopkj djsa%
1- jk"V™h; ;kstuk dh rS;kjh ds fy, fn'kk&funsZ'k fuËkkZfjr

djus ds fy,A
2- ;kstuk vk;ksx }kjk rS;kj jk"V™h; ;kstuk ds :i esa

fopkjA
3- ;kstuk dks ykxw djus ds fy, vkSj mUgsa c<+kus ds

mik; lq>kus ds fy, lalkËkuksa ds fy, ewY;kaduA
4- jk"V™h; fodkl dks ÁHkkfor djus okys lkekftd vkSj

vkfFkZd uhfr ds egŸoiw.kZ lokyksa ij fopkj djus ds
fy,A

mi;qZDr esa ls dkSu ls jk"V™h; fodkl ifj"kn ds mÌs';
gSa\
(a) dsoy 1 vkSj 2
(b) dsoy 1] 3 vkSj 4
(c) dsoy 3 vkSj 4
(d) mi;qZDr lHkh

28- fuEufyf[kr esa dkSu ls dkuwuh vfËkdkj Hkkjr esa cPpksa
ds fy, gSaA
1- f'k{kk dk vfËkdkj
2- lwpuk dk vfËkdkj
3- iks"k.k dk vfËkdkj
lgh fodYi pqusaµ
(a) dsoy 1 vkSj 2
(b) dsoy 2 vkSj 3
(c) dsoy 1 vkSj 3
(d) mi;qZDr lHkh

29- foŸk vk;ksx ds lanHkZ esa fuEu dFkuksa ij fopkj djsa%
1- Hkkjrh; lafoËkku dk vuq-280 foŸk vk;ksx dh O;oLFkk

djrk gSA
2- foŸk vk;ksx ,d vºZ&U;kf;d fudk; gSA

3- ;g ÁR;sd ikaposa o"kZ Hkkjr ds jk"V™ifr }kjk xfBr
fd;k tkrk gSA

mi;qZDr esa ls dkSu&lk@ls dFku lgh gS@gSa\
(a) dsoy 1 vkSj 2
(b) dsoy 2 vkSj 3
(c) dsoy 1 vkSj 3
(d) mi;qZDr lHkh

30- fuEu ij fopkj djsa%
1- ekSfyd vfËkdkj
2- ekSfyd dŸkZO;
3- jkT; ds uhfr funs'kd rŸo
mi;qZDr esa ls Hkkjr ds lafoËkku dk dkSu&lk Hkkx 0 ls 6
o"kZ ds vk;q ds cPpksa dh f'k{kk ds ÁkoËkku dh
ÁfrLFkkiuk djrk gS\
(a) dsoy 1 vkSj 2
(b) dsoy 3
(c) dsoy 2 vkSj 3
(d) mijksDr lHkh

31- fuEu dFkuksa ij fopkj djsa%
1- vuq-143 ds varxZr laoSËkkfud okn ;k lanHkZ jk"V™ifr

}kjk mPpre U;k;ky; dks lanfHkZr fd;s tk ldrs
gaSA

2- ;s okn U;wure ik°p U;k;kËkh'kksa dh ,d [kaMihB }kjk
fuËkkZfjr fd;s tkrs gSaA

mi;qZDr esa ls dkSu&lk@ls dFku lgh gS@gSa\
(a) dsoy 1 (b) dsoy 2
(c) nksuksa 1 vkSj 2 (d) buesa ls dksbZ ugha

32- fuEu dFkuksa ij fopkj djsa%
1- jk"V™h; ,drk ifj"kn~ (,uvkbZlh) igyh ckj 1961

esa xfBr dh xbZA
2- jk"V™h; ,drk ifj"kn~ (,uvkbZlh) dk vË;{k ÁËkkuea=h

gksrk gSA
3- 1992 esa vk;ksftr cSBd ds 12 o"kks± ds varjky ds

ckn 2005 esa la;qDr Áxfr'khy xBcaËku (laÁx)
ljdkj us jk"V™h; ,drk ifj"kn~ dk iquxZBu fd;kA

mi;qZDr esa ls dkSu&lk@ls dFku lgh gS@gSa\
(a) dsoy 1 vkSj 2
(b) dsoy 1 vkSj 3
(c) dsoy 2 vkSj 3
(d) mi;qZDr lHkh
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33. Consider the following statement w.r.t
nomination of Anglo-Indian Community
members to the Lok Sabha and State
Legislative Councils:
1 President of India can nominate two

members to the Lok Sabha from the
Anglo-Indian Community if the
Community is not adequately represented
in the Lok Sabha.

2 Governor can nominate one member
from the Anglo-Indian Community to the
State Legislative Assembly if the
Community is not adequately represented
in the Assembly.

Which of the above statement(s) is/are
correct?

(a) Only 1 (b) Only 2

(c) Both 1 and 2 (d) None of the above

34. Consider the following:
1. Ministry of Personnel, Public Grievances

& Pensions
2. Ministry of Planning
3. Department of Atomic Energy
4. Department of Space

Which of the above are under the Prime
Minister of India?

(a) Only 1 and 2 (b) Only 1, 3 and 4

(c) Only  3 and 4 (d) All of the above

35. Consider the following statements w.r.t
the Planning Commission:
1. The Planning Commission was established

in March 1950.
2. It was established by an executive resolution.
3. It is established on the recommendations

of the Advisory Planning Board
constituted in 1949, under the
chairmanship of Shri Jawaharlal Nehru.

Which of the above statement(s) is/are
correct?

(a) Only 1 and 2 (b) Only 1 and 3

(c) Only 2 and 3 (d) All of the above

36. With respect to a Nidhi Company, consider
the following statements:
1. Nidhi in the Indian context/language

means “knowledge”.
2. In the Indian financial sector it refers

to any mutual benefit society.
3. The loans are given not only to members

but also to non-members who are Indian
citizens.

4. RBI is empowered to issue directions to
them in matters relating to their deposit
acceptance activities.

Select the correct answer using the codes
given below—

(a) 1 and 4 (b) 2 and 4

(c) 1, 2 and 3 (d) 2, 3 & 4

37. Which of the following Acts are
administered by the Ministry of Finance?
1. Foreign Exchange Management Act
2. Companies Act
3. Fiscal Responsibilty Budget Management

Act
4. Competition Act
5. Societies Registration Act

Select the correct answer using the codes
given below—

(a) 1 and 3 (b) 2 and 4

(c) 1, 3 & 5 (d) 1, 2 and 3

38. Which of the following can be considered
as scheduled commercial banks in India?
1. State Bank of India and its Associates
2. Nationalised Banks
3. Foreign Banks
4. Regional Rural Banks
5. Other Scheduled Commercial Banks

(Private Banks)

Select the correct answer using the codes
given below—

(a) 1 and 2 (b) 1, 2 and 4

(c) 1, 2, 4 and 5 (d) 1, 2, 3, 4 and 5
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33- yksdlHkk vkSj jkT; foËkku ifj"knk s a  ds fy,

vkaXy&Hkkjrh; leqnk; ds lnL;ksa ds ukekadu ds lanHkZ
esa fuEu dFkuksa ij fopkj djsa\

1- ;fn vkaXy&Hkkjrh; leqnk; yksdlHkk esa viuk iw.kZ

ÁfrfufËkRo dj ikrk gS rks Hkkjr dk jk"V™ifr

vkaXy&Hkkjrh; leqnk; ls yksdlHkk esa nks lnL;ksa dks

euksuhr dj ldrk gSA

2- ;fn vkaXy&Hkkjrh; leqnk; lnu esa viuk iw.kZ

ÁfrfufËkRo dj ikrk gS rks jkT;iky vkaXy&Hkkjrh;

leqnk; ls jkT; foËkkulHkk esa ,d lnL; dks euksuhr

dj ldrk gSA

mi;qZDr esa ls dkSu&lk@ls dFku lgh gS@gSa\
(a) dsoy 1

(b) dsoy 2

(c) nksuksa 1 vkSj 2

(d) buesa ls dksbZ ugha

34- fuEu ij fopkj djsa%
1- dkfeZd] yksd f'kdk;r ,oa isa'ku ea=ky;

2- ;kstuk ea=ky;

3- ijek.kq ≈tkZ foHkkx

4- vUrfj{k foHkkx

mi;qZDr esa ls dkSu&lk@ls Hkkjr ds ÁËkkuea=h ds vËkhu
gS@gSa\
(a) dsoy 1 vkSj 2

(b) dsoy 1] 3 vkSj 4

(c) dsoy 3 vkSj 4

(d) mi;qZDr lHkh

35- ;kstuk vk;ksx ds lanHkZ esa fuEu dFkuksa ij fopkj djsa%
1- ;kstuk vk;ksx ekpZ 1950 esa LFkkfir fd;k x;kA

2- bls dk;Zdkjh ds izLrko }kjk LFkkfir fd;k x;k FkkA

3- tokgjyky usg: dh vË;{krk esa 1949 esa fufeZr

;kstuk lykgdkj cksMZ dh flQkfj'k ij bldk xBu

fd;k x;kA

mi;qZDr esa ls dkSu&lk@ls dFku lgh gS@gSa\
(a) dsoy 1 vkSj 2

(b) dsoy 1 vkSj 3

(c) dsoy 2 vkSj 3

(d) mi;qZDr lHkh

36- fufËk dEiuh ds lanHkZ esa fuEu dFkuksa ij fopkj djsa%

1- Hkkjrh; lUnHkZ@Hkk"kk esa fufËk dk eryc Kku gSA

2- Hkkjrh; foŸkh; {ks= esa ;g fdlh Hkh ikjLifjd ykHk

dh laLFkk dks mYysf[kr djrk gSA

3- blls u dsoy lnL;ksa dks Ω.k fn;s tkrs gS cfYd

xSj&lnL;ksa] tks Hkkjrh; ukxfjd gSa mudks Hkh fn;s

tkrs gSA

4- vkjchvkbZ dks mudh tek Lohd`r lacaËkh xfrfoËkh;

ekeyksa esa fn'kk&funsZ'k tkjh djus dk vfËkdkj gSA

uhps fn, x, dwV ds vkËkkj ij lgh mŸkj pqusaµ

(a) 1 vkSj 4

(b) 2 vkSj 4

(c) 1] 2 vkSj 3

(d) 2] 3 vkSj 4

37- fuEu esa ls dkSu&ls vfËkfu;e foŸk ea=ky; }kjk iz'kkflr
fd;s tkrs gSa\

1- fons'kh eqÊk ÁcUËku vfËkfu;eA

2- dEiuh vfËkfu;eA

3- jktdks"kh; mŸkjnkf;Ro ctV ÁcUËku vfËkfu;eA

4- ÁfrLiËkkZ vfËkfu;eA

5- lkslk;Vh iathdj.k vfËkfu;eA

uhps fn, x, dwVkas ds vkËkkj ij mŸkj nsaµ
(a) 1 vkSj 3

(b) 2 vkSj 4

(c) 1] 3 vkSj 5

(d) 1] 2 vkSj 3

38- Hkkjr esa fuEufyf[kr esa ls fdls vuqlwfpr okf.kfT;d
cSad ds :i esa fpf r fd;k tk ldrk gS\
1- Hkkjrh; LVsV cSad vkSj blds vuq"kaxhA

2- jk"V™h;d`r cSadA

3- fons'kh cSadA

4- {ks=h; xzkeh.k cSadA

5- vU; vuqlwfpr okf.kfT;d cSad (futh cSad)A

uhps fn, x, dwVksa ds vkËkkj ij lgh mŸkj pqusaµ
(a) 1 vkSj 2

(b) 1] 2 vkSj 4

(c) 1] 2] 4 vkSj 5

(d) 1] 2] 3] 4 vkSj 5
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39. Public Debt in India includes which of
the following:
1. Internal debt

2. External debt

3. Public Account Liabilities

Select the correct answer using the codes
given below—

(a) 1 and 2 (b) 1 and 3

(c) 1, 2 and 3 (d) None of the above

40. According to the Indian Constitution,
consider the following statements:
1. The Central Government can borrow from

both within and outside India.

2. The State Government can borrow from
both within and outside India.

3. The Central Government cannot give
guarantees with respect to loans raised
by any state.

4. A state cannot raise any loan without
the consent of the centre if there is
outstanding on any part of a loan made
to the state by the centre.

Select the correct answer using the codes
given below—

(a) 1 and 3 (b) 1 and 4

(c) 2 and 3 (d) 2 and 4

41. With respect to the Liquidity Adjustment
Facility (LAF), consider the following
statements:
1. Liquidity adjustment facility (LAF) is a

fiscal policy tool.

2. LAF is used to aid banks in adjusting
their monthly mismatches in liquidity.

3. LAF consists of repo and reverse repo
operations.

Select the correct answer using the codes
given below—

(a) Only 1 (b) Only 3

(c) 1 and 2 (d) 1, 2 and 3

42. A lot of importance is being given to
Primary Deficit these days. Which of the
following is true regarding Primary Deficit?
(a) It refers to the difference between fiscal

deficit of the current year and interest
payments on the previous borrowings.

(b) It refers to the difference between fiscal
deficit of the current year and the
effective revenue deficit.

(c) It refers to the fiscal deficit adjusted to
inflation.

(d) It is the fiscal deficit minus grants given
to State/UT for creation of capital assets.

43. With regard to the Union Budget, which
of the following fall under the category
of Capital Receipts?
1. Disinvestment proceeds
2. Interest receipts on loans given.
3. Recovered loans
4. Dividend & profits on Government

investments
5. Grants received
6. Small savings funds raised from the public

in the form of Post Office deposits etc. 

Select the answer using the codes given
below—

(a) 2, 3 and 5 (b) 3, 5 and 6
(c) 1, 3 and 6 (d) 1, 3 and 4

44. With respect to the proposed Goods and
Services Tax, consider the following
statements:
1. GST comes under the broad spectrum of

what is known as Value Added Tax.
2. GST would be an origin based tax as

against the present concept of
destination based tax.

3. It would be a dual GST with the Centre
and the States simultaneously levying it
on a common base.

4. GST will subsume customs duties.

Select the answer using the codes given
below—

(a) 1 and 2 (b) 1 and 3
(c) 2 and 3 (d) 3 and 4
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39- Hkkjr esa lkoZtfud Ω.k esa fuEu esa ls dkSu lfEefyr gS%
1- vkarfjd Ω.kA

2- ck· Ω.kA

3- yksd ys[kk ns;rk,aA

fuEu esa fn, x, dwVksa ds vkËkkj ij lgh mŸkj pqusaµ
(a) 1 vkSj 2

(b) 1 vkSj 3

(c) 1] 2 vkSj 3

(d) buesa ls dksbZ ugha

40- Hkkjrh; lafoËkku ds vuqlkj] fuEu dFkuksa ij fopkj
djsa%
1- dsaÊ ljdkj Hkkjr esa vkSj Hkkjr ls ckgj nksuksa ls Ω.k

ys ldrh gSA

2- jkT; ljdkj Hkkjr esa vkSj Hkkjr ls ckgj nksuksa ls Ω.k

ys ldrh gSA

3- fdlh Hkh jkT; }kjk fy, x;s Ω.k ds lacaËk esa dsUÊ

ljdkj xkjaVh ugha ns ldrhA

4- ,d jkT; dsaÊ dh fcuk vuqefr ds dksbZ Ω.k ugha ys

ldrk] ;fn dsaÊ }kjk fn, x, Ω.k dk dksbZ Hkh Hkkx

ml jkT; ij cdk;k gksA

fn, x, dwVksa ds vkËkkj ij lgh mŸkj pqusaµ
(a) 1 vkSj 3

(b) 1 vkSj 4

(c) 2 vkSj 3

(d) 2 vkSj 4

41- udnh lek;kstu lqfoËkk (,y,,Q) ds lanHkZ esa fuEu
dFkuksa ij fopkj djas%
1- udnh lek;kstu lqfoËkk (,y,,Q) jktdks"kh; uhfr

dk ,d midj.k gSA

2- udnh esa vkus okys ekfld vlarqyu ds lek;kstu esa

cSadksa dh lgk;rk djus ds fy, ,y,,Q dk bLrseky

fd;k tkrk gSA

3- ,y,,Q esa jsiks vkSj fjolZ jsiks izpkyu 'kkfey gSaA

fn, x, dwVksa ds vkËkkj ij lgh mŸkj pqusaµ
(a) dsoy 1

(b) dsoy 3

(c) 1 vkSj 2

(d) 1] 2 vkSj 3

42- bu fnuksa ÁkFkfed ?kkVs dks cgqr egŸo fn;k tk jgk gSA
ÁkFkfed ?kkVs ds lanHkZ esa fuEufyf[kr esa ls dkSu&lk
dFku lgh gS\
(a) ;g pkyw o"kZ ds jktdks"kh; ?kkVs vkSj fiNyh mËkkfj;ksa

ij C;kt Hkqxrku ds chp ds varj dks n'kkZrk gSA
(b) ;g pkyw o"kZ ds jktdks"kh; ?kkVs vkSj ÁHkkoh jktLo

?kkVs ds chp ds varj dks n'kkZrk gSA
(c) ;g eqÊkLQhfr dks lek;ksftr djus rFkk jktdks"kh;

?kkVs dks n'kkZrk gSA
(d) ;g jktdks"kh; ?kkVs rFkk iw°thxr ifjlaifŸk;ksa ds fuekZ.k

ds fy, jkT;@dsaÊ 'kkflr Áns'kksa dks fn;s x, vuqnku
ds chp ds varj dks n'kkZrk gSA

43- dsUÊh; ctV ds lanHkZ esa fuEufyf[kr esa ls dkSu&lk@ls
iwathxr ÁkfIr;ksa dh Js.kh ds varxZr vkrk gS@vkrs gSa\
1- fofuos'k ls vk;A
2- fn, x, Ω.k ij C;kt ÁkfIr;kaA
3- olwyk x;k Ω.kA
4- ljdkjh fuos'k ij ykHkka'k vkSj ykHkA
5- ÁkIr vuqnkuA
6- turk ls lax`ghr Mkd?kj tekvksa vkfn ds :i esa y?kq

cpr fufËkA
uhps fn, x, dwVksa ds vkËkkj ij lgh mŸkj pqusaµ
(a) 2] 3 vkSj 5
(b) 3] 5 vkSj 6
(c) 1] 3 vkSj 6
(d) 1] 3 vkSj 4

44- ÁLrkfor oLrq vkSj lsok dj (th,lVh) ds lanHkZ esa fuEu
dFkuksa ij fopkj djsa%
1- th,lVh ml dj ds ògr foLrkj ds varxZr vkrk gS]

ftls ewY; laofºZr dj (oSV) ds :i esa tkuk tkrk gSA
2- th,lVh xarO; vkËkkfjr dj dh orZeku voËkkj.kk

ds foijhr ,d ewy vkËkkfjr dj gksxkA
3- ;g ,d leku vkËkkj ij dsaÊ vkSj jkT; }kjk ,d lkFk

yxk;k x;k ,d nksgjk th,lVh gksxkA
4- th,lVh lhek 'kqYd fu;e ds varxZr gksxkA
uhps fn, x, dwVksa ds vkËkkj ij lgh mŸkj pqusaµ
(a) 1 vkSj 2
(b) 1 vkSj 3
(c) 2 vkSj 3
(d) 3 vkSj 4
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45. Which of the following taxes fall under
the State list of the Indian Constitution?
1. Entertainment Tax

2. Luxury Tax

3. Corporation Tax

4. Stamp Duty

5. Customs Duty

Select the answer using the codes given
below—

(a) 1 and 2 (b) 1, 3 and 4

(c) 2, 4 and 5 (d) 1, 2 and 4

46. With respect to the Index of Industrial
Production, consider the following
statements:
1. It measures the long term changes in

the volume of production of a basket of
industrial products.

2. It is compiled and published  by Central
Statistical Organisation (CSO).

3. It is expressed in terms of an index number.

4. The all India IIP was first complied by Office
of Economic Adviser, Ministry of Commerce
& Industry with the base year 1947.

Select the correct answer using the codes
given below—

(a) 1 and 2 (b) 2 and 3

(c) 1, 2 and 3 (d) 2, 3 and 4

47. Which of the following sectors are
included in calculating the Index of
Industrial Production in India:
1. Mining

2. Refining

3. Manufacturing

4. Transport

5. Electricity

Select the correct answer using the codes
given below—

(a) 1, 2 and 3 (b) 3, 4 and 5

(c) 1, 3 and 5 (d) 1, 3 and 4

48. The new proposed Price Stabilisation Fund
Scheme will be implemented for which
of the following items initially?
1. Tea
2. Rubber
3. Onion
4. Coffee
5. Potato
Select the correct answer using the codes
given below—

(a) 3 and 5 (b) 1, 2 and 4

(c) 1, 3, 4 and 5 (d) 1, 2, 4 and 5

49. With respect to the Market Stabilisation
Scheme (MSS) consider the following
statements:
1. It aims at controlling the level of inflation

in the market.
2. The amount raised under the MSS does not

get credited to the Government Account.
3. The MSS constitutes an arrangement

aiding in liquidity absorption.
Select the correct answer using the codes
given below—

(a) Only 1 (b) 1 and 2

(c) 1 and 3 (d) 2 and 3

50. With respect to the Essential Commodities
Act, consider the following statements:
1. The Act provides for the regulation and

control of production of commodities
which are declared as essential.

2. The Act provides for the regulation and
control of distribution and pricing of
commodities which are declared as essential.

3. The enforcement/implementation of the
provisions of the Act lies with the State/
UT Governments.

4. The Drug Price Control Order (DPCO) has
been issued under the powers of the ECA.

Select the correct answer using the codes
given below—

(a) 1 and 3 (b) 1, 2 and 3

(c) 1, 3 and 4 (d) 1, 2, 3 and 4
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45- fuEu esa ls dkSu&ls dj Hkkjrh; lafoËkku dh jkT; lwph
esa fufgr gSa\
1- euksjatu dj
2- foykflrk dj

3- fuxe dj

4- LVkEi 'kqYd

5- lhek 'kqYd

uhps fn, x, dwVksa ds vkËkkj ij lgh mŸkj pqusaµ
(a) 1 vkSj 2

(b) 1] 3 vkSj 4

(c) 2] 4 vkSj 5

(d) 1] 2 vkSj 4

46- vkS|ksfxd mRiknu lwpdkad ds lUnHkZ esa fuEu dFkuksa
ij fopkj djsa%
1- ;g vkS|ksfxd mRiknksa ds ,d lewg ds mRiknu dh

ek=k esa nh?kkZofËkd ifjorZu dks ekirk gSA

2- ;g dsUÊh; lkaf[;dh laxBu (lh,lvks) }kjk ladfyr

vkSj Ádkf'kr fd;k tkrk gSA

3- ;g ,d lwpdkad la[;k ds :i esa O;Dr fd;k tkrk gSA

4- okf.kT; ,oa m|ksx ea=ky; ds vkfFkZd lykgdkj ds

dk;kZy; }kjk vkËkkj o"kZ 1947 ds lkFk vf[ky
Hkkjrh; vkbZvkbZih igyh ckj ladfyr fd;k x;kA

uhps fn, x, dwVksa ds vkËkkj ij lgh mŸkj pqusaµ
(a) 1 vkSj 2

(b) 2 vkSj 3

(c) 1] 2 vkSj 3

(d) 2] 3 vkSj 4

47- Hkkjr esa vkS|ksfxd mRiknu lwpdkad dh x.kuk esa
fuEufyf[kr esa ls dkSu&ls {ks= 'kkfey gSa\
1- [kuu

2- 'kksËku

3- fofuekZ.k

4- ifjogu

5- fo|qr

uhps fn, x, dwVksa ds vkËkkj ij lgh mŸkj pqusaµ
(a) 1] 2 vkSj 3

(b) 3] 4 vkSj 5

(c) 1] 3 vkSj 5

(d) 1] 3 vkSj 4

48- ubZ ÁLrkfor ewY; fLFkjhdj.k dks"k ;kstuk fuEu esa ls
fdlds fy, ykxw dh xbZ\
1- pk;
2- jcM+
3- I;kt
4- dkWQh
5- vkyw
uhps fn, x, dwVksa ds vkËkkj ij lgh mŸkj pqusaµ
(a) 3 vkSj 5
(b) 1] 2 vkSj 4
(c) 1] 3] 4 vkSj 5
(d) 1] 2] 4 vkSj 5

49- cktkj fLFkjhdj.k ;kstuk (,e,l,l) ds lanHkZ esa fuEu
dFkuksa ij fopkj djsa%
1- bldk mÌs'; cktkj esa eqÊkLQhfr dh nj dks fu;af=r

djuk gSA
2- ,e,l,l ds varxZr mxkgh xbZ jkf'k ljdkjh [kkrs esa

tek ugha djkbZ tkrh gSA
3- ,e,l,l us rjyrk vo'kks"k.k esa lgk;rk ds fy,

,d O;oLFkk dk xBu djrk gSA
uhps fn, x, dwVksa ds vkËkkj ij lgh mŸkj pqusaµ
(a) dsoy 1
(b) 1 vkSj 2
(c) 1 vkSj 3
(d) 2 vkSj 3

50- vko';d oLrq vfËkfu;e ds lanHkZ esa fuEu dFkuksa ij
fopkj djsa%
1- ;g vfËkfu;e vko';d ?kksf"kr dh xbZ oLrqvksa ds

mRiknu dk fu;eu vkSj fu;a=.k djrk gSA
2- ;g vfËkfu;e vko';d ?kksf"kr dh xbZ oLrqvksa ds

forj.k vkSj muds ewY; fuËkkZj.k dk fu;eu vkSj
fu;a=.k djrk gSA

3- bl vfËkfu;e ds ÁkoËkkuksa dk ÁorZu@fÿ;kUo;u
jkT;@dsaÊ 'kkflr ljdkjksa ds lkFk fufgr gSA

4- M™x ikWoj daV™ksy vkWMZj (Mhihlhvks) bZlh, dh
'kfDr;ksa ds varxZr tkjh fd;k x;k gSA

uhps fn, x, dwVksa ds vkËkkj ij lgh mŸkj pqusaµ
(a) 1 vkSj 3
(b) 1] 2 vkSj 3
(c) 1] 3 vkSj 4
(d) 1] 2] 3 vkSj 4



18

51. Consider the following statements
regarding the new proposed Price
Stabilisation Fund:
1. It will operate as a central sector scheme.

2. It will be used for perishable non–
horticultural commodities.

3. Horticultural commodities are covered
under the Minimum Support Price (MSP).

Select the correct answer using the codes
given below—

(a) Only 1 (b) 1 and 2

(c) 1 and 3 (d) 2 and 3

52. Which of the following best describes a
Capitation Tax?
(a) It is the tax applied to the immovable

property of an individual.

(b) It is the tax applied to the movable
property of an individual.

(c) It is the tax applied to an individual in
accordance with the census.

(d) It is the tax applied to an individual’s
tangible capital assets.

53. The status of “Special Category States”
is given to certain states to target the
fund flow for better balanced growth.
Which of the following states fall under
this category?
1. Rajasthan

2. Uttarakhand

3. Bihar

4. Jammu & Kashmir

5. Himachal Pradesh

6. Jharkhand

Select the correct answer using the codes
given below—

(a) 1, 5 and 6

(b) 2, 4 and 5

(c) 3, 5 and 6

(d) 1, 3 and 6

54. Core inflation has been considered a
preferred tool for framing long-term
policy. With regard to it consider the
following statements:
1. Core Inflation, also known as underlying

inflation, is a measure of inflation which
excludes items that face volatile price
movement.

2. Central Banks target core inflation, as it
reflects the supply side pressure in the
economy.

3. Unlike core inflation, headline inflation
takes into account changes in the price
of food and energy.

Select the answer using the codes given
below—

(a) Only 1 (b) 1 and 2

(c) 1 and 3 (d) 1, 2 and 3

55. Which of the following form the major
components of the Wholesale Price Index
in India?
1. Primary Articles
2. Fuel & power
3. Services
4. Manufactured Products
Select the answer using the codes given
below—

(a) 1, 2 and 4 (b) 2, 3 and 4

(c) 1, 3 and 4 (d) 1, 2 and 3

56. Match the following:
Significance Date

A. National Youth Day 1. 22 April
B. Army Day 2. 12 January
C. Earth Day 3. 5 June
D. Environment Day 4. 15 January
Select the correct answer using the codes
given below—

A B C D

(a) 4 3 1 2

(b) 2 1 3 4

(c) 2 4 1 3

(d) 4 2 3 1
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51- u, ÁLrkfor dher fLFkjhdj.k dks"k ds lanHkZ esa fuEu

dFkuksa ij fopkj djsa%

1- ;g dsUÊh; {ks= ;kstuk ds :i esa dk;kZfUor gksxkA

2- ;g tYn [kjkc gksus okyh xSj ckxokuh oLrqvksa ds

fy, Á;qDr gksxkA

3- ckxokuh oLrq,a U;wure leFkZu ewY; (,e,lih) ds

varxZr doj dh tkrh gSaA

uhps fn, x, dwVksa ds vkËkkj ij lgh mŸkj pqusaµ

(a) dsoy 1

(b) 1 vkSj 2

(c) 1 vkSj 3

(d) 2 vkSj 3

52- fuEufyf[kr esa ls dkSu dSfiVs'ku dj dks mfpr :i ls

O;k[;kf;r djrk gS\

(a) ;g fdlh O;fDr dh vpy lEifŸk ij yxus okyk

dj gSA

(b) ;g fdlh O;fDr dh py lEifŸk ij yxus okyk dj

gSA

(c) ;g fdlh O;fDr ij tux.kuk ds vkËkkj ij yxus

okyk dj gSA

(d) ;g fdlh O;fDr dh ewrZ iw°th vkfLr;ksa ij yxus

okyk dj gSA

53- csgrj larqfyr fodkl ds fy, dks"k Áokg dks yf{kr

fd;k tkrk gS ftlls dqN jkT;ksa dks ̂ fo'ks"k Js.kh okys

jkT;* dk ntkZ fn;k tkrk gSA bl Js.kh ds varxZr fuEu

esa ls dkSu&ls jkT; vkrs gSa\

1- jktLFkku

2- mŸkjk[kaM

3- fcgkj

4- tEew vkSj d'ehj

5- fgekpy Áns'k

6- >kj[kaM

uhps fn, x, dwVksa ds vkËkkj ij lgh mŸkj pqusaµ

(a) 1] 5 vkSj 6

(b) 2] 4 vkSj 5

(c) 3] 5 vkSj 6

(d) 1] 3 vkSj 6

54- nh?kkZofËkd uhfr rS;kj djus ds fy, dksj eqÊkLQhfr dks
,d ilanhnk midj.k ekuk x;k gSA bl lanHkZ esa fuEu
dFkuksa ij fopkj djsa%
1- dksj eqÊkLQhfr] eqÊkLQhfr dk ,d mik; gS tks mu

oLrqvksa dks 'kkfey ugha djrk ftudh dher vfLFkj
gksrh gS] ftls varfuZfgr eqÊkLQhfr ds :i esa Hkh
tkuk tkrk gSA

2- dsUÊh; cSad dksj eqÊkLQhfr dks yf{kr djrs gSa]
D;ksafd ;g vFkZO;oLFkk esa vkiwfrZ i{k ds ncko dks
n'kkZrk gSA

3- dksj eqÊkLQhfr ds foijhr] gsMykbu egaxkbZ [kk|
vkSj ≈tkZ dh dher esa ifjorZu dks n'kkZrk gSA

uhps fn, x, dwVkas ds vkËkkj ij lgh mŸkj pqusaµ
(a) dsoy 1
(b) 1 vkSj 2
(c) 1 vkSj 3
(d) 1] 2 vkSj 3

55- fuEu esa ls dkSu Hkkjr esa Fkksd ewY; lwpdkad ds eq[;
?kVd gaS\
1- ÁkFkfed oLrq,a
2- b±Ëku vkSj fctyh
3- lsok,°
4- fofufeZr mRikn
uhps fn, x, dwVksa ds vkËkkj ij lgh mŸkj pqusaµ
(a) 1] 2 vkSj 4
(b) 2] 3 vkSj 4
(c) 1] 3 vkSj 4
(d) 1] 2 vkSj 3

56- fuEu dk feyku djsa%
egŸo@vfHkÁk; fnukad
A. jk"V™h; ;qok fnol 1- 22 vÁSy
B. lsuk fnol 2- 12 tuojh
C. i`Foh fnol 3- 5 twu
D. i;kZoj.k fnol 4- 15 tuojh
uhps fn, x, dwVksa ds vkËkkj ij lgh mŸkj pqusaµ

A B C D

(a) 4 3 1 2

(b) 2 1 3 4

(c) 2 4 1 3

(d) 4 2 3 1
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57. Consider the following statements with

regard to the current proposed

amendments:
1. The Constitution 119th  Amendment Bill

is regarding Goods & Services Tax.

2. The Constitution 122nd  Amendment Bill
is regarding India–Bangladesh Land
Boundary Agreement.

Select the correct answer using the codes

given below—

(a) Only 1 (b) Only 2

(c) Both 1 and 2 (d) None of the above

58. Which of the following states are a part

of the India-Bangladesh Land Boundary

Agreement 1974?
1. Assam

2. Meghalaya

3. Tripura

4. West Bengal

5. Mizoram

Select the answer using the codes given

below—

(a) 1, 2, 3 and 4 (b) 2, 3, 4 and 5

(c) 1, 3, 4 and 5 (d) 1, 2, 3 and 5

59. The Army has recently inducted the Akash
Missile System. With regard to it consider
the following statements:
1. It is a surface to surface missile.

2. The missile is being developed under the
integrated guided-missile development
programme (IGMDP). 

3. It can fly at supersonic speed.

4. The missile system can target aircraft
up to 100 km away.

Select the correct answer using the codes
given below—

(a) 1 and 2 (b) 2 and 3

(c) 3 and 4 (d) 1, 2 and 3

60. The Sri Lankan Parliament recently

adopted the 19th Constitutional

Amendment with an overwhelming

majority. What was the purpose of this

amendment?
(a) It envisages the dilution of many powers

of Executive Presidency. 

(b) It envisages greater devolution of powers.

(c) It envisages greater autonomy for the
Northern province.

(d) It envisages the merger of northern &
eastern provinces.

61. Which of the following are Ramsar
Wetland sites in India:
1. Loktak lake

2. Chilka lake

3. Wular lake

4. Rudrasagar lake

5. Sambhar lake

Select the answer using the codes given
below—

(a) 1, 3 and 5 (b) 2, 3 and 4

(c) 1, 3, 4 and 5 (d) 1, 2, 3, 4 and 5

62. Match the following:
National Park                    Location

A. Bandhavgarh National Park 1. Karnataka

B. Bandipur National Park 2. Rajasthan

C. Dachigam National Park 3. Jammu &

Kashmir

D. Darrah National Park 4. Madhya
Pradesh

Select the answer using the codes given

below—

A B C D

(a) 1 4 3 2

(b) 4 1 3 2

(c) 2 1 4 3

(d) 4 1 2 3
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57- orZeku ÁLrkfor la'kksËku ds lanHkZ esa fuEu dFkuksa ij

fopkj djsa%

1- 119ok° lafoËkku la'kksËku foËks;d oLrq vkSj lsok dj

ds ckjs esa gSA

2- 122ok° lafoËkku la'kksËku foËks;d Hkkjr&ckaXykns'k Hkwfe

lhek vuqcaËk ds ckjs esa gSA

uhps fn, x, dwVksa ds vkËkkj ij lgh mŸkj pqusaµ

(a) dsoy 1

(b) dsoy 2

(c) nksuksa 1 vkSj 2

(d) buesa ls dksbZ ugha

58- fuEufyf[kr esa dkSu&ls jkT; Hkkjr&ckaXykns'k Hkwfe lhek

le>kSRkk]1974 ds Hkkx gSa\

1- vle

2- es?kky;

3- f=iqjk

4- if'pe caxky

5- fetksje

uhps fn, x, dwVksa ds vkËkkj ij lgh mŸkj pqusaµ

(a) 1] 2] 3 vkSj 4

(b) 2] 3] 4 vkSj 5

(c) 1] 3] 4 vkSj 5

(d) 1] 2] 3 vkSj 5

59- lsuk esa gky gh esa vkdk'k felkby Á.kkyh 'kkfey dh

xbZ gSA bl lUnHkZ esa fuEu dFkuksa ij fopkj djsa%

1- ;g lrg ls lrg ij ekj djus okyh felkby gSA

2- ;g felkby ,dhd`r funsZf'kr&felkby fodkl

dk;Zÿe (vkbZth,eMhih) ds varxZr fodflr dh

xbZ gSA

3- ;g lqijlksfud xfr ls mM+ ldrh gSA

4- ;g felkby Á.kkyh 100 fdeh- dh nwjh rd ds

foeku dks y{; dj ldrk gSA

uhps fn, x, dwVksa ds vkËkkj ij lgh mŸkj pqusaµ

(a) 1 vkSj 2

(b) 2 vkSj 3

(c) 3 vkSj 4
(d) 1] 2 vkSj 3

60- Jhyadk dh laln us gky gh esa Hkkjh cgqer ds lkFk 19ok°

lafoËkku la'kksËku viuk;kA bl la'kksËku dk D;k Á;kstu

Fkk\

(a) ;g dk;Zdkjh ÁslhMsalh (lHkkifrRo) dh dbZ 'kfDr;ksa

dks detksj djus ij fopkj djrk gSA

(b) ;g 'kfDr;ksa ds vfËkd ls vfËkd gLrkarj.k ij fopkj

djrk gSA

(c) ;g mŸkjh Ákar ds fy, vfËkd Lok;Ÿkrk ij fopkj

djrk gSA

(d) ;g mŸkjh vkSj iwohZ ÁkUrksa ds foy; ij fopkj djrk gSA

61- Hkkjr esa fuEufyf[kr esa ls dkSu&ls jkelj vkÊZHkwfe LFky

gSa\

1- yksdVd >hy

2- fpYdk ?khy

3- oqyj >hy

4- #Êlkxj >hy

5- lkEHkj >hy

uhps fn, x, dwVksa ds vkËkkj ij lgh mŸkj pqusaµ

(a) 1] 3 vkSj 5

(b) 2] 3 vkSj 4

(c) 1] 3] 4 vkSj 5

(d) 1] 2] 3] 4 vkSj 5

62- fuEu dks lqesfyr djsa%

jk"V™h; m|ku LFkku

A. ckaËkox<+ jk"V™h; m|ku 1- dukZVd

B. ckanhiqj jk"V™h; m|ku 2- jktLFkku

C. nkphxke jk"V™h; m|ku 3- tEew o d'ehj

D. njkZ jk"V™h; m|ku 4- eË; Áns'k

uhps fn, x, dwVksa ds vkËkkj ij lgh mŸkj pqusaµ

A B C D

(a) 1 4 3 2

(b) 4 1 3 2

(c) 2 1 4 3

(d) 4 1 2 3
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63. As per the aquifer atlas, compiled by the

Central Ground Water Board (CGWB),

arrange the following aquifers in

decreasing order of their availability in

India:

1. Sandstone

2. Alluvium

3. Shale

4. Basalt

Select the answer using the codes given

below—

(a) 2, 1, 4 and 3 (b) 4, 2, 3 and 1

(c) 2, 1, 3 and 4 (d) 4, 2, 1 and 3

64. With regard to the Pradhan Mantri

Suraksha Bima Yojana consider the

following statements:

1. It is a life insurance scheme.

2. It is organized by Ministry of Health &
Family Welfare.

3. It is available only to people in age group
18 to 70 years with bank account.

Select the correct answer using the codes

given below—

(a) Only 1 (b) Only 3

(c) 1 and 2 (d) 1 and 3

65. With respect to the proposed Atal Pension
Yojana, consider the following statements:
1. It’s focus is on the unorganised sector.

2. It is open to all bank account holders
who are not members of any statutory
social security scheme.

3. The minimum age of joining APY is 18
years and maximum age is 60 years. 

Select the correct answer using the codes
given below—

(a) 1 and 2 (b) 2 and 3

(c) 1 and 3 (d) 1, 2 and 3

66. Consider the following statements

regarding India’s cultural contact with

Asian countries:
1. The propagation of Buddhism promoted

India’s contacts with Sri Lanka,
Myanmar, China and Central Asia.

2. Beginning with the reign of Kanishka a
large number of Indian missionaries went
to China, Central Asia and Afghanistan
for preaching their religion.

3. All the Prakrit text of Buddhism compiled
and commented upon in Sri Lanka.

Select the correct answer—

(a) 1, 2 and 3 (b) 1 and 2

(c) 2 and 3 (d) 1 and 3

67. Consider the statement given below.
Which of the statement is correct?
1. Each stomata is composed of two special

types of epidermal cells, called guard
cells. The guard cells control the opening
and closing of stomata.

2. The rise in sodium levels causes stomatal
opening and its decreases stimulate
stomatal closing.

Codes:

(a) Only 1

(b) Only 2

(c) Both 1 and 2

(d) None of the above

68. Consider the following Statements
regarding ‘Nyaya’ school of philosophy:
1. Nyaya or the school of analysis was

developed as a system of logic.

2. According to it, salvation can be attained
through the acquisition of knowledge.

Select the correct answer—

(a) Only 1 (b) Only 2

(c) Both 1 and 2 (d) Neither 1 nor 2
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63- dsUÊh; Hkwfe ty cksMZ (lhthMCY;wwch) }kjk ladfyr

tyHk`r ,Vyl ds vuqlkj] Hkkjr esa mudh miyCËkrk

ds ?kVrs ÿe esa fuEufyf[kr tyHk`rksa dks O;ofLFkr djsa%

1- cyqvk iRFkj

2- tyks<+

3- 'ksy (,d Ádkj dh f'k"V)

4- cslkYV

uhps fn, x, dwVksa ds vkËkkj ij lgh mŸkj pqusaµ

(a) 2] 1] 4 vkSj 3

(b) 4] 2] 3 vkSj 1

(c) 2] 1] 3 vkSj 4

(d) 4] 2] 1 vkSj 3

64- ÁËkkuea=h lqj{kk chek ;kstuk ds lanHkZ esa fuEu dFkuksa

ij fopkj djsa%

1- ;g ,d thou chek ;kstuk gSA

2- ;g LokLF; vkSj ifjokj dY;k.k ea=ky; }kjk vk;ksftr

fd;k tkrk gSA

3- ;g dsoy 18 ls 70 o"kZ dh vk;q ds yksxksa ds fy,

miyCËk gS ftuds cSad [kkrs gSaA

uhps fn, x, dwVksa ds vkËkkj ij lgh mŸkj pqusaµ

(a) dsoy 1

(b) dsoy 3

(c) 1 vkSj 2

(d) 1 vkSj 3

65- ÁLrkfor vVy isa'ku ;kstuk ds lanHkZ esa fuEu dFkuksa

ij fopkj djsa%

1- ;g vlaxfBr {ks= ij dsfUÊr gSA

2- ;g lHkh cSadksa ds [kkrkËkkjh ds fy, miyCËk gS tks

fdlh lafofËkd lkekftd lqj{kk ;kstuk ds lnL;

ugha gSaA

3- vVy isa'ku ;kstuk esa 'kkfey gksus dh U;wure vk;q

18 o"kZ vkSj vfËkdre vk;q 60 o"kZ gSA

uhps fn, x, dwVksa ds vkËkkj ij lgh mŸkj pqusaµ

(a) 1 vkSj 2

(b) 2 vkSj 3

(c) 1 vkSj 3

(d) 1] 2 vkSj 3

66- ,f'k;kbZ ns'kksa ds lkFk Hkkjr ds lkaLd̀frd lacaËk ds lanHkZ

esa fuEu dFkuksa ij fopkj djsa%

1- ckSº ËkeZ ds Ápkj us Hkkjr ds laidks± dks Jhyadk]

E;kaekj] phu vkSj eË; ,f'k;k esa c<+kok fn;kA

2- dfu"d ds 'kkludky dh 'kq#vkr ls ,d cM+h

la[;k esa Hkkjrh; ËkeZ izpkjd vius ËkeZ ds Ápkj ds

fy, phu] eË; ,f'k;k vkSj vQxkfuLrku x;sA

3- ckSº ËkeZ dh lHkh Ákd`r iqLrdsa Jhyadk esa ladfyr

vkSj fVIi.khd`r dh x;haA

lgh mŸkj pqusaµ

(a) 1] 2 vkSj 3

(b) 1 vkSj 2

(c) 2 vkSj 3

(d) 1 vkSj 3

67- fuEu dFkuksa ij fopkj dhft,A dkSu lk dFku lR; gS\

1. lHkh jaËkz ck·Ropk dksf'kdk ls fufeZr gksrs gSa] ftUgsa

lqj{kk dksf'kdk dgrs gSaA lqj{kk dksf'kdk jaËkz ds [kqyus

vkSj can gksus dks fu;af=r djrk gSA

2. lksfM;e dh o`fº ls jaËkz (LVksekVk) [kqyrk gS] tcfd

blds de gksus ij ;g can gksrk gSA

dwV%

(a) dsoy 1

(b) dsuy 2

(c) 1 vkSj 2 nksuksa

(d) dksbZ ugha

68- ^U;k;* n'kZu er ds lanHkZ esa fuEu dFkuksa ij fopkj

djsa%

1- U;k; vFkok fo'ys"k.k ds er dk fodkl rdZ iz.kkyh

esa :i esa gqvkA

2- blds vuqlkj] eks{k Kku ds vfËkxzg.k ds ekË;e ls

izkIr fd;k tk ldrk gSA

lgh mŸkj pqusaµ

(a) dsoy 1

(b) dsoy 2

(c) 1 vkSj 2 nksuksa

(d) u rks 1 vkSj u gh 2
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69. Which of the following metals are
categorized as persistent, Bio-
accumulative & toxic (PBT) metals?
1. Lead

2. Mercury

3. Cadmium

4. Arsenic

Choose the correct answer—

(a) Only 1 and 2 (b) Only 1, 2 and 3

(c) Only 1, 2 and 4 (d) All of the above

70. Consider the following statements:
1. The first step in the direction of

separating central and provincial finances
was taken in 1870 by Lord Mayo.

2. Lord Lytton transferred to the provinces
certain heads of expenditure like land
revenue, excise, general administration
& law and justice.

Select the correct answer—

(a) Only 1

(b) Both 1 and 2

(c) Only 2

(d) Neither 1 nor 2

71. Consider the following statements
regarding  ‘Swadeshi Movement’:
1. In many public burning of foreign cloth

were organized and shops selling foreign
cloth were picketed.

2. An important aspect of the Swadeshi
Movement was the emphasis placed on
self-reliance or ‘Atmasakti’.

3. A national college with Aurobindo Ghosh
as principal was started in Calcutta.

Select the correct answer—

(a) 1 and 2

(b) 2 and 3

(c) 1 and 3

(d) 1, 2 and 3

72. Which of the following are not included
in the positive programmes of the non-
cooperation movement?
1. Establishment of national schools,

colleges and private arbitration courts.

2. Popularization of Swadeshi and revival
of khadi.

3. Development of harmony between Hindus
and Christians.

4. Removal of untouchability of Harijan
welfare.

5. Emancipation and upliftment of women.

Select the correct answer—

(a) Only 1 and 3 (b) Only 3

(c) Only 3 and 5 (d) 1, 3 and 5

73. Which of the following correctly paired?
1. Statesman (1875) - Debendranath

Tagore

2. National Paper (1865) - Robert Knight

3. Tribune (1862) - Dayal Singh
Majithiya

4. Bangalee (1881) - Girish Chandra
Ghosh

Select the correct answer—

(a) 1 and 2 (b) 2 and 3

(c) 3 and 4 (d) 1 and 4

74. Assertion(A): In the early stages of
revolutionary terrorism in India, muslims
Kept aloof or remained hostile to it.

Reason(R): Most of the early secret
societies were marked by intense
religiosity.

Choose the correct answer—

(a) Both (A) and (R) are true and (R) is
correct Explanation of (A).

(b) Both (A) and (R) are true But (R) is not
correct explanation of (A).

(c) (A) is true but (R) is false.

(d) (A) is false but (R) is true.
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69- fuEu esa ls dkSu&lh Ëkkrq yxkrkj tSo,d=hœr vkSj

fo"kSyk (VkWfDld) Ëkkrq ds :i esa oxhZœr gSa\
1- lhlk

2- ikjk

3- dSMfe;e

4- vklsZfud

lgh mŸkj dk p;u dhft,µ

(a) 1 vkSj 2

(b) 1] 2 vkSj 3

(c) 1] 2 vkSj 4

(d) mijksDr lHkh

70- fuEu dFkuksa ij fopkj djsa%

1- dsaÊh; vkSj izkarh; fo�Ÿk dks vyx&vyx djus dh

fn'kk esa igyk dne ykWMZ es;ks }kjk 1870 esa mBk;k

x;kA

2- ykWMZ fyVu us jktLo ds enksa] tSls Hkw&jktLo] mRiknu

'kqYd] lkekU; Á'kklu vkSj dkuwu rFkk U;k; dks izkarksa

dks gLrkarfjr fd;kA

lgh mŸkj pqusaµ

(a) dsoy 1

(b) 1 vkSj 2 nksuksa

(c) dsoy 2

(d) u rks 1 vkSj u gh 2

71- Lons'kh vkUnksyu ds lanHkZ esa fuEu dFkuksa ij fopkj

djsa%

1- fons'kh oL=ksa dks lkoZtfud :i ls tyk;k x;k vkSj

fons'kh oL= cspus okyh nqdkuksa ds lkeus Ëkjuk fn;k

x;kA

2- Lons'kh vkUnk syu dk ,d egŸoiw.k Z  igyw

^vkRefuHkZjrk* ;k ̂ vkRe'kfDr* ij tksj nsuk FkkA

3- ,d jk"V™h; egkfo|ky;] ftlds fizafliy vjfcUnks

?kks"k Fks] dydŸkk esa izkjEHk fd;k x;kA

lgh mŸkj pqusaµ

(a) 1 vkSj 2

(b) 2 vkSj 3

(c) 1 vkSj 3

(d) 1] 2 vkSj 3

72- fuEufyf[kr es a dkSu&ls vlg;ksx vkUnksyu ds

ldkjkRed dk;Zÿeksa esa lfEefyr ugha gSa\

1- jk"V™h; Ldwy] dkWyst vkSj futh eË;LFk U;k;ky;ksa

dh LFkkiukA

2- Lons'kh dks Áfrf"Br vkSj [kknh dks iquthZfor djukA

3- fgUnw vkSj bZlkb;ksa ds chp lkSgkÊZ dk fodkl djukA

4- gfjtu dY;k.k ds fy, vLi`';rk dk mUewyu djukA

5- efgykvksa dk mRFkku vkSj mudh vktknhA

lgh mŸkj pqusaµ

(a) dsoy 1 vkSj 3

(b) dsoy 3

(c) dsoy 3 vkSj 5

(d) 1] 3 vkSj 5

73- fuEufyf[kr esa ls lgh ;qXe dkSu&ls gSa\

1- LVsV~leSu (1875) ñ & nscsUÊukFk VSxksj

2- us'kuy isij (1865) & jkWcVZ ukbZV

3- fV™C;wu (1862) & n;ky flag ethfFk;k

4- caxkyh (1881) & fxjh'k pUÊ ?kks"k

lgh mŸkj pqusaµ �

(a) 1 vkSj 2

(b) 2 vkSj 3

(c) 3 vkSj 4

(d) 1 vkSj 4

74- dFku (A)% Hkkjr esa ÿkafrdkjh vkradokn ds ÁkjfEHkd

nkSj esa Hkkjrh; eqfLye vyx&Fkyx jgsA

dkj.k (R)% vfËkdka'kr% ÁkjafHkd xqIr lfefr;ka ËkkfeZd

dÍjrk ls izsfjr FkhA

lgh mŸkj pqusaµ

(a) (A) vkSj (R) nksuksa lgh gSa rFkk (R), (A) dh lgh

O;k[;k djrk gSA

(b) (A) vkSj (R) nksuksa lgh gSa rFkk (R), (A) dh lgh

O;k[;k ugha djrk gSA

(c) (A) lgh gS ysfdu (R) xyrA

(d) (A) xyr gS ysfdu (R) lghA
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75. Which of the following is/are not true
about India?
1. India’s north-south expansion is more

than east–west expansion.

2. India has a specific crop calendar and life
cycle in congruent with monsoon system.

3. Extensive Indus-Ganga–Brahmaputra alluvial
plains in the north exhibiting continuation
of traditional unique socio-economic
interaction such as jajmani system.

4. The annual rainfall in India is marginally
lower than global average rainfall.

Choose the correct answer—

(a) 2 and 4 (b) 2, 3 and 4

(c) Only 4 (d) 1 and 3

76. Which of the following statements about
the Santhal Revolt are true?
1. The Santhals of Rajmahal hills revolted

against the British in 1855.

2. They setup their own government and
defeated a British force under colonel White.

3. The British suppressed the revolt by
transforming the disturbed area to the
military in 1856.

4. The British created a separate district of
Santhal paraganas to prevent santhals
from revolting again in future.

Select the correct answer—

(a) 1, 2 and 3 (b) 1, 3 and 4

(c) 2, 3 and 4 (d) 1, 2 and 4

77. Consider the following statements
regarding ‘Revolutionary Nationalism’:
1. In 1904, V.D. Savarkar had organised the

a Abhinava Bharat, a secret society of
revolutionaries.

2. The Sandhya and Yugantar in Maharashtra
and the Kal in Bengal were the most
prominent newspapers, who began to
advocate revolutionary actions.

3. The revolutionaries established centers
of activity abroad, in London the lead

was taken by Shyamji Krishna Verma, V.D.
Savarkar and  Har Dayal.

Select the correct answer—

(a) 1 and 2 (b) 2 and 3

(c) 1 and 3 (d) 1, 2 and 3

78. Consider the water distribution in India
and choose the correct statements?
1. Generally rainfall decreases from east to

west in India.

2. India has 22% of fresh water reserve of
the world.

3. Godavari basin has highest potential of
replenishable ground water after Ganga
basin.

4. Tank irrigation is predominant in south
India and well irrigation is predominant
in north India.

Choose the correct answer—

(a) Only 1 (b) Only 2 and 3

(c) Only 2 and 4 (d) Only 1, 3 and 4

79. Match List I and List II and select the
correct answer:
List I    List II

(Ancient Sites) (Archeological
 Finding)

A. Lothal 1. Ploughed Field

B. Kalibanga 2. Dockyard

C. Dohlavira 3. Terracotta replica
of a Plough

D. Banawali 4. An inscription
comprising ten large
sized signs of the
Harrappan script

Codes:

A B C D

(a) 1 2 3 4

(b) 2 1 4 3

(c) 1 2 4 3

(d) 2 1 3 4
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75- fuEu esa ls dkSu Hkkjr ds fo"k; esa lgh ugha gS@gSa\
1- Hkkjr dk mŸkj&nf{k.k foLrkj] iwjc&if'pe ls de gSA

2- Hkkjr dk ekulwu ds lekuq:i ,d œf"k dSysaMj vkSj
thou pÿ gSA

3- mŸkj esa o`gr xaxk&cz„iq= tyks<+ eSnku ikjaifjd vuwBs

lkekftd&vkfFkZd varl±caËk] ;Fkk&ttekuh vkfn dks

n'kkZrk gSA

4- Hkkjr esa okf"kZd o"kkZ lalkj dh vkSlr okf"kZd o"kkZ

dh rqyuk esa FkksM+h gh de gSA

lgh mŸkj pqusaµ
(a) 2 vkSj 4

(b) 2] 3 vkSj 4

(c) dsoy 4

(d) 1 vkSj 3

76- laFkky foÊksg ds lanHkZ esa fuEufyf[kr esa ls dkSu&ls dFku
lgh gSa\
1- 1855 esa vaxzstksa ds f[kykQ jktegy igkM+h ds laFkkyksa

us foÊksg fd;kA

2- mUgksaus viuh ljdkj LFkkfir dh rFkk duZy OgkbV ds

usr`Ro okys fczfV'k cy dks ijkftr fd;kA

3- vaxzstksa us 1856 esa miÊoh {ks=ksa dks lsuk dks gLrkarfjr

dj foÊksg dks nck;kA

4- vaxzstksa us Hkfo"; esa laFkkyksa ds foÊksg dh vk'kadk dks
lekIr djus ds mÌs'; ls laFkky ijxuk ds :i esa ,d

vyx ftyk cuk;kA

lgh mŸkj pqusaµ
(a) 1] 2 vkSj 3

(b) 1] 3 vkSj 4

(c) 2] 3 vkSj 4

(d) 1] 2 vkSj 4

77- ^ÿkafrdkjh jk"V™h;rk* ds lanHkZ esa fuEu dFkuksa ij fopkj
djsa%
1- 1904 esa oh-Mh- lkojdj us ÿkfUrdkfj;ksa ds ,d

xqIr leqnk; vfHkuo Hkkjr dh LFkkiuk dhA

2- ^lkaË;* vkSj ^;qxkarj* egkjk"V™ esa vkSj ^dy* caxky

ds egŸoiw.kZ lekpkj i= Fks ftUgksaus ÿkafrdkjh

xfrfofËk;ksa dh odkyr dhA

3- fons'k esa xfrfofËk tkjh djus ds fy, ÿkafrdkfj;ksa us

fofHkUu dsUÊksa dh LFkkiuk dh] yUnu esa ';keth�

d`".k oekZ] oh-Mh- lkojdj vkSj gj n;ky }kjk usr`Ro

fd;k x;kA

lgh mŸkj pqusaµ

(a) 1 vkSj 2

(b) 2 vkSj 3

(c) 1 vkSj 3

(d) 1] 2 vkSj 3

78- Hkkjr esa ty forj.k ls lacafËkr fuEu  esa ls dkSu&lk

dFku lgh gS\

1- lkekU;r o"kkZ iwoZ ls if'pe dh vksj ?kVrh tkrh gSA

2- Hkkjr esa lalkj dk 22 izfr'kr 'kqº ty dk HkaMkj gSA

3- xksnkojh csflu esa Hkwfexr tyiquHkZj.k {kerk xaxk

csflu ds ckn loksZPp gSA

4- nf{k.k Hkkjr esa rkykc }kjk flapkbZ Áeq[k lkËku gS]

tcfd mŸkj Hkkjr esa dwi flapkbZ ds Áeq[k lkËku gSaA

lgh mŸkj pqusaµ

(a) dsoy 1

(b) dsoy 2 vkSj 3

(c) dsoy 2 vkSj 4

(d) dsoy 1] 3 vkSj 4

79- lwph&I dks lwph&II ls lqesfyr djsa rFkk lwph ds uhps

fn;s x;s dwVksa dk bLrseky djrs gq, lgh mŸkj pqusaA

lwph&I lwph&II

(izkphu LFky) (iqjkrkfŸod izkfIr;ka)

A. yksFky 1- tqrk gqvk [ksr

B. dkyhcaxk 2- canjxkg

C. Ëkksykchjk 3- idh gqbZ feV~Vh dk gy

D. cuokyh 4- gM+IikbZ fyfi ds nl cM+s

fp ksa ls ;qDr ,d vfHkys[k

dwV%

A B C D

(a) 1 2 3 4

(b) 2 1 4 3

(c) 1 2 4 3

(d) 2 1 3 4
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80. Consider the following statements:
1. Yajnavalkya Smiriti accepts rights of

women to inherit property.

2. Narad Smiriti contains detailed
description of salves.

Which statement(s) is/are correct?

(a) Only 1 (b) Only 2

(c) Both 1 and 2 (d) Neither 1 nor 2

81. Consider the following statements:-
1. The last Mauryan Ruler, Brihadratha was

assassinated by his commander-in-chief,
Pushyamitra Sunga.

2. The last Sunga king, Devabhuti was
assassinated by his Brahmana Minister
Vasudeva Kanva who usurped the throne.

3. The last ruler of Kanva dynasty was
deposed by Andhras.

Which of these statement(s) is/are correct?

(a) 1 and 2 (b) Only 2

(c) Only 3 (d) 1, 2 and 3

82. Consider the following statements
1. Guptas issued the largest number of gold

coins, which were called dinaras in their
inscriptions. They vividly portray Gupta
kings, indicating the latter’s love for war
and art.

2. After the conquest of Gujarat, the Guptas
issued a good number of silver coins
mainly for local exchange, in which silver
occupied an important position under
the Western Kshatrapas.

3. Gupta copper coins are very few. This
would suggest that the use of money
did not touch the common people so
much as it did under period preceding it

Select the correct answer using the codes
given below—

(a) Only 1 (b) Only 3

(c) Only 2 and 3 (d) 1, 2 and 3

83. Match the List–I with List – II and choose

your answer from the codes given below:

List – I List – II

A. Srauta Sutras 1. Sacred and secular law
and administration

B. Grihya Sutras 2. Rules for the
performance of the
great sacrifices

C. Dharma Sutras 3. Directions for the
simple ceremonies
of daily life

D. Sulva Sutras 4. Rules for the measu-
rement and building
a place of sacrifice
and the fire altars

Codes:

A B C D

(a) 1 2 3 4

(b) 3 2 4 1

(c) 4 3 2 1

(d) 2 3 1 4

84. A geographical region has following

climatic characteristics:

1. Uniformity of temperature throughout
the year

2. Rainfall throughout the year with two
periods of maximum occurrence

3. Least rainfall at June and December
solstices

Which of the following climates

corresponds to the above characteristics?

(a) Equatorial

(b) Mediterranean

(c) China Type

(d) Tropical monsoon
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80- fuEufyf[kr dFkuksa ij fopkj djsa%
1- ;kKoyD; Le`fr esa iSr`d laifŸk ds fy, efgykvksa

ds vfËkdkj dks Lohdkj fd;k x;k gSA

2- ukjn Le`fr esa nklksa ds ckjs esa foLrkj ls mYys[k fd;k

x;k gSA

mijksDr dFkuksa esa dkSu&lk@ls lgh gS@gSa\

(a) dsoy 1

(b) dsoy 2

(c) 1 vkSj 2 nksuksa

(d) u rks 1 vkSj u gh 2

81- fuEufyf[kr dFkuksa ij fopkj djsaµ

1- vafre ekS;Z 'kkld c`gnzFk dh gR;k mlds izeq[k

lsukifr iq";fe= 'kqax us dj nh FkhA

2- vafre 'kqax 'kkld nsoHkwfr dh gR;k mlds czk„.k

ea=h ok'kqnso d.o us dj nh Fkh] ftlus cyiwoZd

eqdqV Ëkkj.k dj fy;k FkkA

3- d.o oa'k ds vafre 'kkld dks vkaËkzksa us vinLFk dj

fn;k FkkA

mijksDr esa dkSu&lk@ls lgh dFku gS@gSa\

(a) dsoy 1 vkSj 2

(b) dsoy 2

(c) dsoy 3

(d) 1] 2 vkSj 3

82- fuEufyf[kr dFkuksa ij fopkj dhft,%

1- xqIr 'kkldksa us cM+h la[;k esa Lo.kZ flDds tkjh fd;s]

ftUgsa muds vfHkys[kksa esa fnukj dgk x;k FkkA bu ij

xqIr 'kkldksa dks ;qº vkSj dyk izseh ds :i esa vkstLoh

<ax ls fp=kafdr fd;k x;k gSA

2- xqtjkr ij fot; izkIr djus ds i'pkr~ xqIr 'kkldksa

us fo'ks"k rkSj ij LFkkuh; fofue; ds :i esa Hkkjh

la[;k esa pkanh ds flDds tkjh fd;s] if'peh {k=iksa

ds varxZr pkanh Ëkkrq us fo'ks"k fLFkfr izkIr dj yh

FkhA

3- xqIr 'kkldksa ds rkacs ds flDds cgqr de feyrs gSaA

blls irk pyrk gS fd eqnzk dk iz;ksx vke yksxksa esa

de gks x;k Fkk tks fd iwoZorhZ dkyksa esa cgqr vfËkd FkkA

uhps fn;s x;s dwVksa dk iz;ksx dj lgh mŸkj dk p;u djsaµ

(a) dsoy 1

(b) dsoy 3

(c) dsoy 2 vkSj 3

(d) 1] 2 vkSj 3

83- lwph&I dks lwph&II ls lqesfyr djsa rFkk lwph ds uhps

fn;s x;s dwVksa dk bLrseky djrs gq, lgh mŸkj pqusa%

lwph&I lwph&II

A. ljkSr lw= 1- ifo= vkSj ËkeZfujis{k fofËk ,oa

'kklu

B. x`· lw= 2- ;K ,oa cyh ds fu;e

C. /keZ lw= 3- nSfud thou esa fd;s tkus okys

lkekU; vk;kstuksa ds funsZ'k

D. lqYo lw= 4- ;K LFky vkSj vfXu osfndkvksa

ds ekiu vkSj fuekZ.k ds fu;e

dwV%

A B C D

(a) 1 2 3 4

(b) 3 2 4 1

(c) 4 3 2 1

(d) 2 3 1 4

84- ,d HkkSxksfyd {ks= fuEufyf[kr tyok;q fo'ks"krk,a

j[krk gS%

1- o"kZ Hkj rkieku dh ,d:irk

2- o"kZ ds nks ekSleksa esa lokZfËkd o"kkZ ds lkFk o"kZHkj o"kkZ

3- twu vkSj fnlacj esa cgqr de o"kkZ

mijksDr fo'ks"krkvksa dk lacaËk fuEu esa ls fdl ,d

tyok;q ls gS\

(a) fo"kqorjs[kh;

(b) HkweË; lkxjh;

(c) phu izdkj

(d) m".kdfVcaËkh; ekulwu
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85. Consider the following statements:
1. The Malwa region is drained by the

tributaries of Sone river.

2. The Chotanagpur region is drained by the
tributaries of Mahanadi river.

Which of the statement(s) given above
is/are correct?

(a) Only 1 (b) Only 2

(c) Both 1 and 2 (d) Neither 1 nor 2

86. Which one of the following statements

is not correct?
(a) Gandhiji suggested to the Khilafat

Committee that it should adopt a
programme of Non-Violent Non-
Cooperation to protest against the
Government’s unfavourable attitude.

(b) In the Nagpur Session of the Congress
in 1920, Motital Nehru moved the
resolution of Non-Cooperation.

(c) The programme of Non-Cooperation
included the surrender of honours and
titles.

(d) After the Vijayawada Session of the
Congress in 1921, Charkhas were
popularized on a wide scale and Khadi
became the uniform of the national
movement.

87. With reference to the period of Indian

freedom struggle, which of the following

was/were recommended by the Nehru

report?
1. Complete Independence for India.

2. Joint electorates for reservation of seats
for minorities.

3. Provision of fundamental rights for the
people of India in the Constitution.

Select the correct answer using the codes

given below—

(a) Only 1 (b) Only 2 and 3

(c) Only 1 and 3 (d) 1, 2 and 3

88. Duraluminium used for aircraft

construction consists of:

(a) Mg and Al

(b) Mg, Al and Cu

(c) Mg, Al and Zn

(d) Mg and Zn

89. The black color of the white paint fromed

due to long exposure to air is removed

and white color regennerated by which

one of the following?

(a) Hydrogen peroxide

(d) Sulpher Dioxide

(c) Hydrochloric acid

(d) Acetic Acid

90. Carbohydrates is a nutrients stored in

both plants and animals in the from of:

(a) Cellulose and galactose respectively

(b) Starch & Glycogen respectively

(c) Starch & Glucose respectively

(d) Cellulose & Glycogen respectively

91. A refracting telescope consist of:

(a) One concave mirror and one convese lens

(b) Two convex lenses of unequal focal
lenghts

(c) Two concave mirrors of different focal
lenght

(d) Two convex lenses of equal focal lengh.

92. Which of the Following statement(s) is/
are correct?

1. Ligaments are highly flexible.

2. Ligaments connect muscle and bones.

3. Ligaments contain very little matrix.

Select the correct answer using the codes

given below—

(a) 1, 2 and 3 (b) Only 1 and 3

(c) Only 2 and 3 (d) Only 1
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85- fuEufyf[kr dFkuksa ij fopkj dhft,%

1- ekyok {ks= dk ty lksu unh dh lgk;d ufn;ksa ds

}kjk viokfgr gksrk gSA

2- NksVk ukxiqj dk ty {ks= egkunh dh lgk;d ufn;ksa

ds }kjk viokfgr gksrk gSA

mijksDr esa ls dkSu&lk@ls dFku lR; gS@gSa\

(a) dsoy 1

(b) dsoy 2

(c) 1 vkSj 2 nksuksa

(d) u rks 1 vkSj u gh 2

86- fuEufyf[kr esa ls dkSu&lk ,d dFku lR; ugha gS\

(a) xkaËkhth us f[kykQr vkanksyu lfefr dks lq>ko fn;k

fd bldks ljdkj ds cs:[khiw.kZ O;ogkj ds fo#º

fojksËk izn'kZu ds fy, vfgald vlg;ksx dks viukuk

pkfg,A

(b) 1920 esa dkaxzsl ds ukxiqj l= esa eksrhyky usg: us

vlg;ksx izLrko izLrqr fd;kA

(c) vlg;ksx ds dk;Zÿe esa lEekuksa vkSj vyadj.kksa dks

ykSVkuk 'kkfey FkkA

(d) 1921 esa dkaxzsl ds fot;okM+k l= ds ckn pj[ks dks

o`gŸk iSekus ij yksdfiz; cuk;k x;k vkSj [kknh jk"V™h;

vkanksyu dh onhZ (;wuhQkeZ) cu x;hA

87- Hkkjrh; Lora=rk la?k"kZ ds dky ds lanHkZ esa fuEufyf[kr

esa ls usg: fjiksVZ us D;k flQkfj'k@flQkfj'ksa dh Fkh@Fkha\

1- Hkkjr dh iw.kZ Lora=rkA

2- vYila[;d lhVksa ds vkj{k.k ds fy, la;qDr fuokZpuA

3- lafoËkku esa Hkkjr ds yksxksa ds fy, ewy vfËkdkj dk

izkoËkkuA

uhps fn;s x;s dwVksa dk iz;ksx dj lgh mŸkj pqusaµ

(a) dsoy 1

(b) dsoy 2 vkSj 3

(c) dsoy 1 vkSj 3

(d) 1] 2 vkSj 3

88- ,;jÿk∂V fuekZ.k esa iz;qDr M~;wjkY;wfefu;e feJ.k gSµ

(a) eSXuhf'k;e vkSj ,Y;qfefu;e

(b) eSXuhf'k;e] ,Y;qfefu;e vkSj dkWij

(c) eSXuhf'k;e] ,Y;qfefu;e vkSj ftad

(d) eSXuhf'k;e vkSj ftad

89- ok;q (ok;qeaMy) esa nh?kZdkyhu izn'kZu ds dkj.k lQsn

jax ij dkyk ËkCck vk tkrk gS vkSj fuEufyf[kr esa ls

fdl ,d ds dkj.k ËkCck gVkdj lQsn jax fQj ls mRiUu

fd;k tkrk gS\

(a) gkbM™kstu iSjkDlkbM

(b) lYQj MkbZvkWDlkbM

(c) gkbM™ksDyksfjd vEy

(d) ,flfVd ,flM

90- dkcksZgkbM™sV~l ikSËkksa vkSj i'kqvksa (thoksa) nksuksa esa iks"k.k

ds fdl :i esa lafpr jgrk gS%

(a) ÿe'k% lsyqykst vkSj XysDVkst

(b) ÿe'k% LVkpZ vkSj Xykbdkstu

(c) ÿe'k% LVkpZ vkSj Xywdkst

(d) ÿe'k% lsyqykst vkSj Xykbdkstu

91- ,d viorZd@ijkorZd VsyhLdksi esa gksrk gS%

(a) ,d vory niZ.k vkSj ,d mŸky ysal

(b) vleku Qksdl nwjh ds nks mŸky ysal

(c) fHkUu Qksdl nwjh ds nks vory niZ.k

(d) leku Qksdl nwjh ds nks mŸky ysal

92- fuEufyf[kr dFkuksa esa dkSu lk@ls dFku lgh gS@gSa\

1- fyxkesaV~l (vLFkhcaËk) mPp rU; gksrs gSaA

2- fyxkesaV~l (vLFkhcaËk) ekalis'kh vkSj ifjosËk ls tqM+s

gksrs gSaA

3- fyxkesaV~l (vLFkhcaËk) esa cgqr NksVk mRifŸk LFkku

lkapk lfEefyr gksrk gSA

uhps fn;s x;s dwVksa dk iz;ksx dj lgh mŸkj dk p;u

djsaµ

(a) 1] 2 vkSj 3 (b) dsoy 1 vkSj 3

(c) dsoy 2 vkSj 3 (d) dsoy 1
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93. Consider the following statements &
select the correct code:
1. Vander waals forces include attractions

and repulsions between atoms,
molecules, and surfaces, as well as on
other in thermo-nuclear forces.

2. Vander waals forces are relatively weak
compared to covalent bond.

Codes:

(a) Both 1 and 2 (b) None of the above

(c) Only 1 (d) Only 2

94. The outer covering of cell is known as
cell membrane is selectively permeable
because:
(a) It is make up of selected organic

molecules.

(b) It does not allow transport of some
substances from region of higher
concentrations to the region of lower
concentrartion.

(c) The movement of organic molecules
occurs only at specific concentration.

(d) It allows the movement of certain
molecules in and out of the cell while
the movements of other molecules is
prevented.

95. Consider the following:
1. Folic Acid

2. Nicotinic Acid

3. Pantothenic Acid

Which of the above is/are vitamins?

(a) Only 1 (b) Only 1 and 2

(c) Only 3 (d) 1, 2 and 3

96. A sandy and saline area is the
natural  habitat of an Indian animal
species. The  animal  is threatened due
to the  destruction of its habitat. Which
one of  the following could be that
animal?
(a) Indian wild buffalo

(b) Great Indian Bustard

(c) Indian wild boar

(d) Indian gazelle

97. Consider the following:
1. Fertilization

2. Waste water treatment

3. Bacteria

4. Chemical fertilizer

Which of the above add Nitrogen oxide
(a strong green house gas) on Earth?

(a) Only 1 and 4 (b) Only 2 and 3

(c) Only 2, 3 and 4 (d) 1, 2, 3 and 4

98. Which one of the following organisms is
likely to show the highest concentration
of PCB (a Persistent Organic Pollutant)
once it has been introduced into the
ecosystem?

(a) Grasshopper (b) Toad

(c) Snake (d) Eagle

99. Within biological communities, some
species are important in determining the
ability of a large number of other species
to persist in the community. Such species
are called:

(a) Keystone species

(b) Allopatric species

(c) Sympatric species

(d) Threatened species

100. As per Wildlife Protection Act, 1972;
there is provision for absolute protection
and offence in which of the following
schedule?
1. Schedule-1 2. Schedule-2

3. Schedule-3 4. Schedule-4

Select the correct answer using the codes

given below—

(a) 1 and 3 (b) 2 and 4

(c) 1, 2 and 4 (d) 1 and 2
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93- fuEufyf[kr dFkuksa ij fopkj dhft, vkSj lR; dwV

dk p;u dhft,%

1- okaMjokYl cy esa ijek.kqvksa] ekWfyD;wyksa vkSj lrgksa

ds chp vkd"kZ.k vkSj izfrd"kZ.k ds lkFk&lkFk ijek.kq

rkih; cy 'kkfey gksrs gSaA

2- okaMjokYl cy lgla;kstd cy dh rqyuk esa detksj

gksrs gSaA

dwV%

(a) 1 vkSj 2 nksuksa

(b) dksbZ ugha

(c) dsoy 1

(d) dsoy 2

94- dksf'kdk f>Yyh dgk tkus okyk dksf'kdk dk ck·

vkoj.k ikjxE; gksrk gS] D;ksafd%

(a) ;g pqfuank dkcZfud ekWfyD;wyksa ls curk gSA

(b) ;g dqN rŸoksa dks mPp ladsanz.k {ks= ls fuEu ladsanz.k

{ks= dh vksj tkus ls jksdrk gSA

(c) dkcZfud ekWfyD;wyksa dk xeu dsoy ,d fo'ks"k

ladsanz.k esa gh gksrk gSA

(d) ;g dksf'kdk ds vanj vkSj ckgj dqN fof'k"V

ekWfyD;wyksa ds vkokxeu dh vuqefr nsrk gS] tcfd

vU; ekWfyD;wyksa ds vkokxeu dks jksdrk gSA

95- fuEufyf[kr ij fopkj dhft,%

1- Qksfyd vEy

2- fudksfVfud vEy

3- isaVksFksfud vEy

mijksDr esa ls dkSu&lk@ls foVkfeu gS@gSa\

(a) dsoy 1 (b) dsoy 1 vkSj 2

(c) dsoy 3 (d) 1] 2 vkSj 3

96- ,d cyqbZ vkSj yo.kh; {ks= ,d Hkkjrh; izk.kh (i'kq)

iztkfr dk izkœfrd vkokl gSA ;g izk.kh vkokl u"V

gksus ds dkj.k ladVxzLr gSA ;g fuEufyf[kr esa ls dkSu&lk

izk.kh gS\

(a) Hkkjrh; taxyh HkSal

(b) xzsV bafM;u cLVMZ

(c) Hkkjrh; taxyh lqvj

(d) Hkkjrh; fpadkjk

97- fuEufyf[kr ij fopkj djsa%

1- fu"kspu 2-     v'kqº ty 'kksËku

3- thok.kq 4-     jklk;fud [kkn

mijksDr esa ls dkSu Ëkjrh ij dkcZu MkbZvkWDlkbM (,d

l'kDr xzhu gkml xSl) NksM+rs gSa\

(a) dsoy 1 vkSj 4

(b) dsoy 2 vkSj 3

(c) dsoy 2] 3 vkSj 4

(d) 1] 2] 3 vkSj 4

98- fuEufyf[kr esa ls dkSu&lk ,d tho ikfjfLFkfrdh esa

,d ckj vkus ij ihlhch (,d fpj fo|eku dkcZfud

iznw"kd) dk mPp ladsaÊ.k n'kkZrk gS\

(a) fVM~Mk

(b) VksM

(c) lkai

(d) ckt

99- tSfod leqnk;ksa esa dqN iztkfr;ka cMs+ vU; iztkfr;ksa dh

ml leqnk; esa cus jgus esa egŸoiw.kZ Hkwfedk fuHkkrs gSA

,slh iztkfr;ksa dks dgk tkrk gS%

(a) ewyHkwr iztkfr;ka

(b) ,yksiSfV™d iztkfr;ka

(c) flEiSfV™d iztkfr;ka

(d) ladVkiUu iztkfr;ka

100- oU;tho laj{k.k vfËkfu;e] 1972 ds vuqlkj

fuEufyf[kr esa ls fdl vuqlwph esa fujis{k (iw.kZ) laj{k.k

vkSj vijkËk ds fy;s izkoËkku gS\

1- vuqlwph&1 2-   vuqlwph&2

3- vuqlwph&3 4-   vuqlwph&4

fuEu dwVksa dh lgk;rk ls lgh mŸkj dk p;u djasµ

 (a) dsoy 1 vkSj 3

(b) dsoy 2 vkSj 4

(c) dsoy 1] 2 vkSj 4

(d) dsoy 1 vkSj 2
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tc rd vkidks ;g ijh{k.k iqfLrdk [kksyus dks u dgk tk, rc rd u [kksys

ijh{k.k iqfLrdk & 9
lkekU; vË;;u

le; % nks ?k.Vs  iw.kk±d % 200

vuqns'k
1- ijh{kk izzkjEHk gksus ds rqjUr ckn] vki bl ijh{k.k iqfLrdk dh iM+rky vo'; dj ysa fd blesa dksbZ fcuk Nik] QVk ;k NwVk gqvk

i`"B vFkok iz'uka'k vkfn u gksA ;fn ,sls gS] rks bls lgh ijh{k.k iqfLrdk ls cny yhft,A

2- MCcs esa viuk uke Hkjs

3- ijh{k.k iqfLrdk ij vkSj dqN u fy[ksaA

4- bl ijh{k.k iqfLrdk esa iz'uka'k 100 (iz'u) fn;s x;s gSaA izR;sd iz'uka'k esa pkj@ik°p izR;qŸkj (mŸkj) fn;s x, gSA buesa ls ,d
izR;qŸkj dks pqu ysa ftls vki mŸkj&i=d ij vafdr djuk pkgrs gSA ;fn vkidks ,slk yxs fd ,d ls vf/kd izR;qŸkj lgh gS rks
ml izR;qŸkj dks vafdr djsa tks vkidks loksZŸke yxsA izR;sd iz'uka'k ds fy, dsoy ,d gh izR;qŸkj pquuk gSA

5- vkidks vius lHkh izR;qŸkj vyx ls fn, x, mŸkj&i=d ij gh vafdr djus gSaA mŸkj&i=d  fn, x, funsZ'k nsf[k,A

6- lHkh iz'uka'kksa ds vad leku gSA

7- blls igys fd vki ijh{k.k iqfLrdk ds fofHkUu iz'uka'kksa ds izR;qŸkj mŸkj&i=d ij vafdr djuk 'kq: djsa] vkidks izos'k
izek.k&i= ds lkFk izsf"kr vuqns'kksa ds vuqlkj dqN fooj.k mŸkj&i=d esa nsus gSA

8- vki vius lHkh izR;qŸkjksa dks mŸkj&i=d esa Hkjus ds ckn rFkk ijh{kk ds lekiu ij dsoy mŸkj&i=d v/kh{kd dks lkSai nsaA
vkidks vius lkFk ijh{k.k iqfLrdk ys tkus dh vuqefr gSA

9- xyr mŸkjksa ds fy, n.M %

oLrqfu"B iz'u&i=ksa esa mEehnokj }kjk fn, x, xyr mŸkjksa ds fy, n.M fn;k tk,xkA

(i) izR;sd iz'u ds fy, pkj@ik°p oSdfYid mŸkj gSaA mEehnokj }kjk izR;sd iz'u ds fy, fn, x, ,d xyr mŸkj ds fy, iz'u
gsrq fu;r fd, x, vadksa dk ,d&frgkbZ n.M ds :i esa dkVk tk,xkA

(ii) ;fn dksbZ mEehnokj ,d ls vf/kd mŸkj nsrk gS] rks bls xyr mŸkj ekuk tk,xk] ;|fi fn, x, mŸkjksa esa ls ,d mŸkj lgh
gksrk gS] fQj Hkh ml iz'u ds fy, mi;qZDrkuqlkj gh mlh rjg dk n.M fn;k tk,xkA

(iii) ;fn mEehnokj }kjk dksbZ iz'u gy ugha fd;k tkrk gS] vFkkZr~ mEehnokj }kjk mŸkj ugha fn;k tkrk gS] rks ml iz'u ds fy,
dksbZ n.M ugha fn;k tk,xkA

tc rd vkidks ;g ijh{k.k iqfLrdk [kksyus dks u dgk tk, rc rd u [kksys

Note: English version of the instructions is printed on the font cover of this booklet.
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Answers

Set-9 (GS Paper)

1. Ans: (b)

Explanation: C.F is absent along the equator
but increases toward poles.

2. Ans: (b)

Explanation: Thermocline is the region in the
ocean in which the temperature decreases and
density increases rapidly with increasing depth.

3. Ans: (c)

4. Ans: (c)

Explanation: Jet streams are stronger in winter
than in summer because arctic and tropical air
masses create a stronger surface temperature
contrast in winter causing a stronger jet stream
but in summer surface temp. Variation is less
dramatic.

5. Ans: (c)

6. Ans: (c)

7. Ans: (d)

Explanation:  1. Banihal pass  2. Zoji La

Hints:- Exchange the names

8. Ans: (c)

9. Ans: (c)

10. Ans: (c)

11. Ans: (a)

12. Ans: (a)

Explanation: Continents are still moving apart
each other as the plate moves are continuous
young mountains are explained by plate tectonics

not all mountains are explained.

13. Ans: (c)

14. Ans: (a)

Explane – Separated by 100 channd not 110.

15. Ans: (b)

Explanation: They are divided by 110 Channel

16. Ans: (d)

Explanation

1. It is called dendritic

2. It is called Trellis

17. Ans: (b)

It is known as watershed.

18. Ans: (d)

19. Ans: (c)

Explanation: Metals & minerals are not evenly
distributed on earth i.e. S.A. has highest gold,
Australia has highest Aluminum etc.

20. Ans: (d)

21. Ans: (a)

Nominated members of Rajya Sabha are not
selected in accordance with the system of
proportional representation

22. Ans: (d)

23. Ans: (d)

24. Ans: (d)

The 86th Amendment Act resulted in following
consequential changes:

1.  A new article 21A was inserted below the Article
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21 which made Right to Education a Fundamental
Right for children in the range of 6-14 years.

2. Article 45 which now reads:

The State shall endeavour to provide early
childhood care and education for all children until
they complete the age of six years.

3. Article 51A was also amended and after clause
(J), the clause (k) was added which says:  “who
is a parent or guardian to provide opportunities
for education to his child or, as the case may be,
ward between the age of six and fourteen years.”

25. Ans: (c)

26. Ans: (c)

Speaker of the Lok Sabha and Chairman of the
Rajya Sabha has the power to Cast their vote.

27. Ans: (d)

28. Ans: (a)

Constitution guarantees RTE via Article  21(a) for
the age of 6-14 group children. Below that age,
it comes under Fundamental Duties & DPSP (
Article 45: Free and compulsory education to
children). The RTI is available to children too, as
we recently saw a little girl creating confusion in
authorities when she sought the information
regarding    Gandhiji’s status as the father of
nation.

29. Ans: (d)

30. Ans: (b)

The Eighty-sixth Constitutional Amendment Act
has split the age group 0-14 years into two clear
categories and these separate ages cover their
interests under separate Articles in the
Constitution.

Article 21A made Right to Education a
Fundamental Right for children in the range of 6-
14 years and Article 45 in Directive Principle of
State Policy covers children  of 0-6 years. Article

45 states that the State shall endeavour to provide
early childhood care and education for all children
until they complete the age of six years.

31. Ans: (c)

32. Ans: (d)

The then Prime Minister, Shri Jawaharlal Nehru,
convened National  Integration Conference in
September-October, 1961 to find ways and means
to combat the evils of communalism, casteism,
regionalism, linguism and narrow-mindedness, and
to formulate definite conclusions in order to give
a lead to the country. This Conference decided to
set up a National Integration Council (NIC) to
review all matters pertaining to national integration
and to  make recommendations thereon; NIC held
its first meeting in 1962; The NIC has 147 members,
including Union Ministers, Leaders of the Opposition
in the Lok Sabha and the Rajya Sabha, the Chief
Ministers of all States and Union Territories with
Legislatures.It also includes leaders of national and
regional political parties, chairpersons of national
commissions, eminent journalists, public figures,
and representatives of business and women’s
organisations.

33. Ans: (c)

34. Ans: (d)

35. Ans: (a)

It is established on the recommendations of the
Advisory Planning Board constituted in 1946,
under the chairmanship of K.C. Neogi

36. Ans: (b)

Nidhi in the Indian context / language means
“treasure”. However, in the Indian financial sector
it refers to any mutual benefit society notified by
the Central/Union Government as a Nidhi Company.
They are created mainly for cultivating the habit
of thrift and savings amongst its members. They
are mutual benefit societies, because their dealings
are restricted only to the members; and membership
is limited to individuals. The principal source of
funds is the contribution from the members. The
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loans are given to the members at relatively
reasonable rates for purposes such as house
construction or repairs and are generally secured.
Since Nidhis come under one class of NBFCs, RBI is
empowered to issue directions to them in matters
relating to their deposit acceptance activities.

37. Ans:(a)

Companies Act, Competition Act & Societies
Registration Act are administered by Ministry of
Corporate Affairs.

38. Ans: (d)

39. Ans: (a)

Public Debt in India includes only Internal and
External Debt incurred by the Central Government.
Internal Debt includes liabilities incurred by
resident units in the Indian economy to other
resident units, while External Debt includes
liabilities incurred by residents to non-residents.

40. Ans: (c)

The State Government can borrow only from
within and not outside India. The Central
Government can give guarantees with respect to
loans raised by any state.

41. Ans: (c)

Liquidity adjustment facility (LAF) is a monetary
policy tool which allows banks to borrow money
through repurchase agreements. LAF is used to
aid banks in adjusting the day to day mismatches
in liquidity.LAF consists of repo and reverse repo
operations.

42. Ans: (a)

It refers to difference between fiscal deficit of
the current year and interest payments on the
previous borrowings.

43. Ans: (c)

44. Ans: (b)

GST comes under the broad spectrum of what is
known as Value Added Tax which provides for input

credits and taxes only the value addition that
happened in the process of production / provision
of service. GST would be a destination based tax
as against the present concept of origin based
tax. i.e, tax is imposed at the point of
consumption. It would be a dual GST with the
Centre and the States simultaneously levying it
on a common base. The GST, to be levied by the
Centre would be called Central GST (CGST) and
that to be levied by the States would be called
State GST (SGST). GST does not subsume stamp
duties and custom duties.

45. Ans: (d)

46. Ans: (b)  

It is a composite indicator expressed in terms of
an index number which measures the short term
changes in the volume of production of a basket
of industrial products. Index of Industrial
Production is compiled and published every month
by Central Statistics Office (CSO) of the Ministry
of Statistics and Programme Implementation with
a time lag of six weeks from the reference month.
i.e., at the time of release of IIP data, quick
estimates for the relevant month along with
revised and final indices of previous two months
respectively, (on the basis of updated production
data) are released. The all India IIP was first
complied by Office of Economic Adviser, Ministry
of Commerce & Industry with the base year 1937.
With the establishment of CSO in 1951, the
compilation of index was shifted to this office.

47. Ans: (c)

48. Ans: (a)

The intervention is expected to regulate price
volatility through procurement by Central/ State
Govts/ agencies of selected produce, maintenance
of buffer stocks and regulated release into the
market.  To begin with, interventions would be
supported for onions and potato only. However,
other commodities may be added later.
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49. Ans: (a)

This scheme came into existence following a MoU
between the Reserve Bank of India (RBI) and the
Government of India (GoI) with the primary aim
of aiding the sterilization operations of the RBI.
Under this scheme, the GoI borrows from the RBI
(such borrowing being additional to its normal
borrowing requirements) and issues Treasury-Bills/
Dated Securities that are utilized for absorbing
excess liquidity from the market. Therefore, the
MSS constitutes an arrangement aiding in liquidity
absorption, in keeping with the overall monetary
policy stance of the RBI, alongside tools like the
Liquidity Adjustment Facility (LAF) and Open
Market Operations (OMO). The amount raised under
the MSS does not get credited to the Government
Account but is maintained in a separate cash
account with the RBI and are used only for the
purpose of redemption/buy back of Treasury-Bills/
Dated Securities issued under the scheme.

50. Ans: (d)

The Act empowers the Central and state
governments concurrently to control production,
supply and distribution of certain commodities
in view of rising prices. The measures that can be
taken under the provision of the Act include,
among others, licensing, distribution and
imposing stock limits. The governments also have
the power to fix price limits, and selling the
particular commodities above the limit will attract
penalties. Black marketing of essential
commodities was a major problem in the past
and this has now been controlled to a large extent.
The Drug Price Control Order (DPCO) and such
other orders have been issued under the powers
of the ECA.

51. Ans: (a)

To mitigate hardships to both, consumers as well
as farmers, a new central sector scheme for
providing working capital and other incidental
expenses for procurement and distribution of

perishable horticultural commodities has been
approved. For this purpose, a corpus – “Price
Stabilisation Fund” is being created. Horticultural
commodities are not covered under the Minimum
Support Price (MSP) mechanism and therefore,
the farmers , at times, do not even recover their
cost of cultivation, being fully dependent upon
the market for disposal of their produce. As a
result, farmers suffer the most on account of
steep fall in prices.

52. Ans: (c)

A poll tax (head tax or capitation tax, in U.S.
English) is a tax of a portioned, fixed amount
applied to an individual in accordance with the
census (as opposed to a percentage of income).
Head taxes were important sources of revenue
for many governments from ancient times until
the 19th century. There have been several famous
(and infamous) cases of head taxes in history,
notably in parts of the United States with the
intent of disenfranchising poor people,
including African Americans, Native Americans,
and poor whites.

53. Ans: (b)

National Development Council (NDC) has accorded
11 states, out of 28 states, the status of “Special
Category States” to target the fund flow for better
balanced growth. They are seven States of North-
Eastern region (Arunachal Pradesh, Assam,
Manipur, Meghalaya, Mizoram, Nagaland and
Tripura), Sikkim, Jammu & Kashmir, Himachal
Pradesh and Uttarakhand. Other states are referred
as General Category States (GCS).

54. Ans: (c)

Core Inflation is also known as underlying inflation,
is a measure of inflation which excludes items that
face volatile price movement, notably food and
energy. In other words, Core Inflation is nothing
but Headline Inflation minus inflation that is
contributed by food and energy commodities.  To
understand the concept in a better way we can say
that food and fuel prices may go up in the short
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run due to some disturbance in the agriculture sector
or oil economy. However, over the long term they
tend to revert back to their normal trend growth.
On the other hand, prices of other commodities do
not fluctuate as regularly as food and fuel – as such
increase in their prices could be taken relatively to
be much more of a permanent nature. If this is so,
then it follows logically for Central Banks to target
only core inflation, as it reflects the demand side
pressure in the economy. Here it needs to be
mentioned that, unlike core inflation, headline
inflation also takes into account changes in the
price of food and energy.

55. Ans: (a)

In India, there are three main components in WPI
– Primary Articles (weight: 20.12%), Fuel & Power
(weight: 14.91%) and Manufactured Products
(weight: 64.97). Services are not included in WPI
in India.

56. Ans: (c)

57. Ans: (d)

The Constitution 119th  Amendment Bill is
regarding India –Bangladesh Land Boundary
Agreement. The Constitution 122nd  Amendment
Bill is regarding Goods & Services Tax.

58. Ans: (a)

59. Ans: (b)

Akash (Sanskrit: Âkâúa ”Sky”) is a medium-range
mobile surface-to-air missile defense system
developed by theDefence Research and Development
Organisation (DRDO), Ordnance Factories
Board and Bharat Electronics (BEL) inIndia. The
missile system can target aircraft up to 30 km away,
Akash flies at supersonic speed, reaching
around Mach 2.5. The missile is being developed
under the integrated guided-missile development
programme (IGMDP). The programme also involved
development of the Nag, Agni and Trishul missiles,
as well as the Prithvi ballistic missile.

60. Ans: (a)

Among the important features of the Bill are:
the reduction in the terms of President and
Parliament from six years to five years; re-
introduction of a two-term limit that a person
can have as President; the power of President to
dissolve Parliament only after four and a half years
[unlike one year, as prevalent now]; the revival
of Constitutional Council and the establishment
of independent commissions.

61. Ans: (d)

62. Ans: (b)

63. Ans: (a)

The atlas has been prepared on 1:2,50,000 grid
map scale and covers 14 principal aquifers and
42 major aquifers. Alluvium, the major aquifer
system, covers 31 per cent area in the country
and is available in Uttar Pradesh, Bihar, West
Bengal, Assam, Odisha and Rajasthan. This is
followed by the sandstone aquifer that covers
eight per cent area and is found in Chhattisgarh,
Andhra Pradesh, Madhya Pradesh, Gujarat,
Karnataka and Rajasthan. The rest of the country
is covered with other formations of which basalt
is in 17 per cent area and is spread over
Maharashtra, Madhya Pradesh, Gujarat, Rajasthan,
Karnataka. Shale aquifer accounts for seven per
cent area and is available mostly in Chhattisgarh,
Andhra Pradesh, Madhya Pradesh, Rajasthan,
north-eastern States and in the Himalayas.

64. Ans: (b)

It is an accidental insurance scheme. It is
organized by Ministry of Finances. It is available
only to people in age group 18 to 70 years with
bank account.

65. Ans: (a)

Atal Pension Yojana (APY) is open to all bank
account holders who are not members of any
statutory social security scheme. The minimum
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age of joining APY is 18 years and maximum age
is 40 years. One needs to contribute till one
attains 60 years of age.

66. Ans: (b)

67. Ans: (a)

Explanation: Stomatal opening is caused by
potassium and not sodium.

68. Ans: (c)

69. Ans: (d)

70. Ans: (b)

71. Ans: (d)

72. Ans: (b)

73. Ans: (c)

74. Ans: (a)

75. Ans: (c)

Explanation: Indian has an average annual rainfall
of 116 cms marginally higher than the global
means of 99 cms.

76. Ans: (b)

77. Ans: (c)

78. Ans: (d)

Explanation: India has 4% of the freshwater
reserve of the world.

79. Ans: (b)

80. Ans: (c)

81. Ans: (d)

Explanation: The last ruler of Kanva dynasty was
Susarman who was defeated by Andhras in 27
B.C.

82. Ans: (d)

83. Ans: (d)

84. Ans: (a)

Explanation: Uniformity of temperature
throughout the year is feature of Equatorial
climate.

85. Ans: (a)

Explanation: Sone river is originate in Amarkantak
plateau.

86. Ans: (d)

87. Ans: (b)

Explanation: Nehru Report favoured Dominion
Status as the next immediate step. The Report
also provided for a bicameral, sovereign
Parliament, with the same autonomous power as
enjoyed by the Dominion Parliaments within the

British empire such as Canada or Australia.

88. Ans: (b)

89. Ans: (a)

Explanation: The H2O2 (Hydrogen Peroxide) in
act as a Oxidising agent.

90. Ans: (b)

Explanation: Starch is stored food of plant fromed
by the process of photosynthesis, wherean
glycogen is formed in animal.

91. Ans: (b)

92. Ans: (b)

Explanation:  Ligament is the fibron tissiue that
connects bones to other bones.

93. Ans: (a)

Explanation: Vander waals force is weak as
compared to covalent bonds, but play a
fundamental role in fields as diverse as
supramolecular chemistry, structural biolose etc.

94. Ans: (d)

Explanation: The Cell Member is selective
permeable and hence its allow only specific
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molecule to pass through it while other molecule
prevented.

95. Ans: (d)

Explanation: Vitamin Bg is know as folic acid,
vit B3 as Nicotine & Vitamin B5 as Pantothenic
Acid.

96. Ans: (b)

Explanation: Great Indian Bustard is found
Gujarat, Rajasthan and surrounding area, facing
stress due to habitat destruction.

97. Ans: (d)

Explanation:  Nitrogen oxide is an indirect green
house gas, released from fossil fuel burning,
waster water treatment, gas combustion,
fertilization etc.

98. Ans: (d)

Explanation: Eagle is having largest concentration
of PCB because it is a non-biodegradable substance
and cannot easily break down and hence persist
in environment for longer duration.

99. Ans: (a)

Explanation: Keystone species are crucial since
their survival is linked with survival of other
species.

100. Ans: (d)

Explanation: As per WPA, 1972 only schedule 1
and 2 contain list of species with absolute
protection and offence.


